Qufbuo N 5 2

XL JunwywnpnipjuG 2008 p.
nhijmbtivptiph 25-h N 1573-0
npnuw i

Unniuuy N 2

Luyuwunwih {wGpuuybnmpju 2009 pyuywih whnmwywd pymetny Gwuwwmbtujwd ny phGwluwlub wjmpybtph U juuhnw) gpudwg GophGbph qony dwiuubph dwiwGuwynpuytiu
Ywubtigynn gnudwpGbp6 pun dSpugqptiph, SwfuuwwmbuwlGhph U juwwpnnGbph (wowGg ownwnptippyu wtwumpniGGhph L YhowqquijhG JuqiwytpwmpiniGGtph Ynnihg {wjwunwbh
Lwlpuynnipjuip npuiungpnyud GuuumyuyhG qupytph b gpuodw) GophGiph hwpgh6 hppuywGwgybihp L GplaGh hmdwpwnupwhG GowGwynipjwd dwiuubph)

hwqup nnudGpny
£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl o
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
£ OPUALHLR BU GUSULNALERD CLAUUBLE | phiwGunluwG Chiliptiph L - 0, G
3 uuduuarULtee Chlptiph L $hGwlGuwljwu b _
=X wlnyGtph 2hGmpymGGtph qtinntqhw- npuiw Gnph
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Juughmuy pwnpmbquqpu- ony w
s | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
LLAUUGLL 31,059,682.0 30,485,423.2 3,250,503.0 16,761,259.9 212,264.1 10,261,396.2 574,258.8
wyy pynud’
4L LVUUQULP UCUSUUUQU 158,580.0 158,580.0 0.0 0.0 0.0 158,580.0 0.0
wyn pynid’
Qnpownhp hyfuwGmpjwG, whnwlwl JjunujwmiuG
01 01 01 13 [hwpuwwybmwlwa b mwpwopuwyhl JunwuwmiuG 158,580.0 158,580.0 158,580.0
twpihGGtph yupnmmpymGaiph qupqugnd
L U99U3hy gdNa.0d, 108,120.6 108,120.6 0.0 0.0 0.0 108,120.6 0.0
wyn pynid’
o1 | o1 | o1 | 11 [$Uaguyhl dmnmip uphuunnwluqih 108,120.6 108,120.6 108,120.6
YupnnmpmGGEph qupqugnud
4< GUNUJULNRMI-8UL USuUSULUQU 64,000.0 64,000.0 0.0 64,000.0 0.0 0.0 0.0
wyn pynid’
01 01 01 | 08 [Jwpswlywl opjtiymbtph hhiGwnpngnud 64,000.0 64,000.0 64,000.0
L UTKUULUALULT L A USULT Y 2,481.0 2,481.0 0.0 0.0 0.0 2,481.0 0.0
wyn pynid’
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
& OPUALLED Gl GUSUCAALEER cuvruuUtLL PhGwGuwmlwb Chliptiph L mwgnunuljui 0 Quuyhnu
3 uuduLarULEee Chliptiph L ? dhGwGuwljwb B
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
03 | 03 | o1 | oo [$%vuhiwGwnpulwG quinunuGh 2,481.0 2,481.0 2,481.0
YupnnmpmGGEph qupqugnud
L U99U3hy ULUSULANM3UL AP 9h
UCILUSULUQU 27,000.0 27,000.0 0.0 0.0 0.0 27,000.0 0.0
wyn pynid’
03 | o1 | o2 | o4 [$%Waquyhl wiymwbqnpjuG unphpnh 27,000.0 27,000.0 27,000.0
wfuwmnuwljuqih jupnnmpymbGhph qupqugnid
4< SULUBLUBhLY GUATJULTU Y
LURULULORI3ORG 82,917.4 82,9174 0.0 19,342.5 0.0 63,574.9 0.0
wyn pynid’
08 | 02 | o4 | 10 |VbmmnuiGhn «QuyuunuGh waquihl wpfuhd» 82,917.4 82,917.4 19,3425 63,574.9
NNUY-nd
AL Ursuuurq. bAUdhatuuGrh
LYUULULNRME3UL LU3SUUSULHR oLGULU 6,045.3 6,045.3 0.0 0.0 0.0 6,045.3 0.0
OUNU3NMI-3NFL
wj pynud”
Lwjywuwwh hpjwpwp Swnwympjwl hwiwlwpgh
03 02 01 | 03 winnpupu G §Ekph wuhuw Gous 6,045.3 6,045.3 6,045.3
L U/, UusSNkMe-3U0L LU ULULA R3Oy 1,627,442.5 1,627,442.5 1,068,716.7 380,000.0 313 178,694.5 0.0
wyn pynid’
Qnpownhp hpfuwGmpjwG, whnmwlwl JjunuwjuwminuG
hwGpuytmwywl kL nwpwdpwihl jupwjwpiwb
01 01 01 14 SwpshGGtph YwpnnmpymGGkph qupquigns 10,780.6 10,780.6 10,780.6
(GuwhuwnwpGhph wpltwwwywqdtph twum])
Qnpownhp hyfuwGmpjwG, whnwlwl JjunuwuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwb
01 01 01 15 swpshGGtph YwpnnmpymGGkph qupqigns 52,881.2 52,881.2 52,881.2
(GuwhwnuwpmpymGitph wyuwwwljuwqikph Swuny)
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
£ OPUALHLB BU GUSULNALERD CLAUUBLE | phiwGunluwG Chiliptiph L - 0, G
3 uuduLarULEee Chliptiph L dhGwGuwlw b
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
3 E =) owjuubn puipap) Ybpw Gnpngnud Ywi wytuw- 4 I
=8 owluutip
wnwpltp
03 05 01 | 01 | Lptwyjuwunwpnquywl hwiwliwpgh wuwhuywlnig 1,563,780.7 1,563,780.7 1,068,716.7 380,000.0 31.3 115,032.7 0.0
nphg'
Suwh nuunwwwpujw|itph ppiuyuunwpnquyw i
hhdGunpyh 2hGwpupuywt wytuwnwlpGtph 1,068,716.7 1,068,716.7 1,068,716.7
hpwlywiwgnid
«Unp» ppiwjuunupnqujuwb hhiGwnpyh Juuhumwg
GnpnquiwG whhuwnnwpGhph hpwlwGugnud 200,000.0 200,000.0 200,000.0
«Upnyjul» ppiwjuunmwpnnujub hhiGupyh
Yy GnpnquwG wofuwnwGpGlph hpwljwGugnud 180,000.0 180,000.0 180,000.0
Suwh nuunwwwpujw|ltph ppiuyjuunwpnquyw i
hhdGupyh 2hGwpuwpwluwl wfvwwnwlplGtph 313 313 313
(whiwqow-Gwhiwhw)yuwjhG hwumwpnptph ’ ’ ’
Ytipwhw)Jupy
{4 AUSUUQNME-3NRF, 60,355.0 60,355.0 0.0 0.0 0.0 60,355.0 0.0
wjn pynud”
03 | o4 | o1 | o4 |3%nwumnwuwqmpuG fupnnopym GGtph 45,115.0 45,115.0 45,115.0
qupqugnii
0 | o5 | 02|12 Z‘;I“lm“‘mhp «unwpuugmpul nupng» MNTG- 15,240.0 15,240.0 15,240.0
4L UeSULhy 2NPOELh LUULULNRME3NRY 245,200.0 245,200.0 0.0 0.0 0.0 245,200.0 0.0
wjn} pynud”
Qnpownhp hyfuwGmpjwG, whnwlwl JjunuwmivG
hwGpuytmwywl kL nwpwdpwihl jupwjwpiwb
01 01 03 | 09 SwpshGGtph YwpnnmpymGGkph qupquigns 25,500.0 25,500.0 25,500.0
(GuwhwnuwpmpymGitph wyluwwwljuwqikph Swuny)
01 01 03 [ 07 [ YbuwumbGmpjui okGptph gl 174,700.0 174,700.0 174,700.0
09 05 02 16 [vtpyumuiGtp «Hhjwlwghmnwlwb pupng»-nul 45,000.0 45,000.0 45,000.0
4L UPSNF-Lh LUULULNMOSARY 5,820.0 5,820.0 0.0 0.0 0.0 5,820.0 0.0
wjn pynud”

1087




£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
£ OPUALHLB BU GUSULNALERD CLAUUBLE | phiwGunluwG Chiliptiph L - 0, G
3 uuduLarULEee Chliptiph L dhGwGuwljwb
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
Qnpownhp hpfuwGmpjwG, whnmwlwl JunuuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwl
01 01 01 14 swpshGGtph YwpnnmpymGGkph qupquigns 5,600.0 5,600.0 5,600.0
(GuwhuwnwpGhph wpltwwwywqdtph twum])
Qnpownhp hyfuwGmpjwG, whnmwlwl JjunuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwl
01 01 01 15 swpshGGtph YwpnnmpymGGkph qupquigns 220.0 220.0 220.0
(GuwhwnuwpmpymGitph wyluwwwljuwqikph Swuny)
L UNNIUNULNM3UL
LURULULARE3ORG 1,706,130.5 1,706,130.5 0.0 0.0 0.0 1,706,130.5 0.0
wyn pynid’
‘LhpnnmuiGhp wonneuwuywhwljw G
JuqiwultpumpynGGEpma pdolulwmG
07 01 03 | o1 wwppusnpmuiGhph L snury ogGmpyul thpkGutkph 1,703,130.5 1,703,130.5 1,703,130.5
4tnpppiw6 hunfwn
08 02 01 05 |utpyumultp gpunyuipuGitpnd 3,000.0 3,000.0 0.0 0.0 0.0 3,000.0 0.0
wyn pynid’
«&<L wnnnowwwhnipjwl Gwfuwpwpnipjul
hwlpuybnwlwl ghnwpdyuywb gpunupui» 3,000.0 3,000.0 3,000.0
NNy
4£ 43NMUSLSEUNRE-3UTL
LU ULULARGEOE, 714,611.7 714,611.7 0.0 496,241.7 19,000.0 199,370.0 0.0
wjn pynud”
Qnpownhp hpfuwGmpjwG, whnmwlwl JjunuwjuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupwjwpiwb
01 01 01 14 SwpshGGtph YwpnnmpymGGkph qupquigns 9,000.0 9,000.0 9,000.0
(GuwhuwnwpGhph wpltwwwywqdtph twum])
Qnpownhp hyfuwGmpjwG, whnwlwl JjunuwuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwb
04 02 01 | 32 swpshGGtph YwpnnmpymGGkph qupqigns 2,500.0 2,500.0 2,500.0
(GuwhwnuwpmpymGitph wyuwwwljuwqikph Swuny)
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
OruQ-LELh Y GUSULNLERD
= u L QUSUL. LLAUUBLE | PhiwbuuywG Chlptph L wnwqnnwlwd, f; Gy
3 uuduLarULEee Chliptiph L dhGwGuwlw b
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
G mnuwmiGmbtuwljwl hnpuwmbuptnh ywhujw iy,
04 02 01 21 |[pwpbpunnud L hGdtGhpulw6 JunmgywopGhph 2437928 2437928 0.0 243.792.8 0.0 0.0 0.0
Jpwlwlglnui
<< Updwypph dwpgnid Upwpu ghnp whwuyuwpwmuyul
Junmgyuwoptiph yhpwwlqlinid thwpkp 8 - 138,400.0 138,400.0 138,400.0
uwhdwlwhG uymG N 31
<< Updwypph dwpgnid Upwpu ghunp whwuyuwpwmuyul
Junmgyuwoptiph yepwwlqlnid 17 - uvwhiwGuwjhG 105,392.8 105,392.8 105,392.8
ujnil N 40-40/1
‘UhinypmuGhp «dwlpuwbmwlwb
04. 02 01 30 |wGwuGwpmdwywl hwjwhwiwsdwpwlwyhG L 8,000.0 8,000.0 8,000.0
whunnpnohs YhGunpnG» MOTY-mU
SwpwowypowGwjhl wpnpumnphw Ghph pkGptnh
04 02 01 15 [hhiGuGnpngmyu 60,609.1 60,609.1 0.0 54,109.1 6,500.0 0.0 0.0
wyn pymy’
<4 Upwpuinh duipg, Upwpuinh wwpudwgpgwluha 40,812.0 40,812.0 40,812.0
wlwulwpnidwwl jwpnpuwmnphw
X< Upwquonwnbh dwpg, BwihGh
nwnpwowpowlwihG whwulwpnidwlwl 13,297.1 13,297.1 13,297.1
Jwpnpwwunphw
2010 pyuywGhG hpwywGwgytihp hhiGwGnpngiw b
wfuwwmnwlpGtiph GwhiwqowGwhiwhwyywjhG
thwumwpntiph uquinud L thnpdwpGlnipjub 6,500.0 6,500.0 6,500.0
wlghugnii
Swpwdwiljtim Jdwpiwb wwytwing gymnughwliwui
04 02 01 | 23 wnwtumpymGGphG YhinwGhGtph wpwtunpms 167,870.0 167,870.0 167,870.0
04 | 02 | o2 | o4 |VOmwndinwlniqfiug L whnwnzhGulwd 210,839.8 210,839.8 198,339.8 12,500.0
wyfuwmnwlpltp
04 | 02 | 02 | o5 | bEnmnmiGhn «Ulwunh whuulwd dnGhumphio» 12,000.0 12,000.0 12,000.0
NNUY-nmd
L ALUNIKNULARME3UL
LURLULULARGEOE, 54,089.9 54,089.9 0.0 0.0 0.0 54,089.9 0.0
wjn} pynud”
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£ymotnwjhG
owfuutiph
qnpownwlwl
nuuwiwpgiwb

pwdhb
funudip
nwu

Opwgph N

OLUS-LELh BY GUSULNALELR
uuvduuvnrueee

LuHUUGLL

wyn pynud’

Canudkbn ng
bhlwbuwub
wlpnf]Gliph
qony
dwjuutin

wyn pymud’

Chlptph L
2hGmpymGGtph
2hGuwpupmpimb

Chptph L
2hGmpymGGtph
Yuughmuy
Jtpw Gnpngnud

‘Lwhiwqowht-
wnwgnmnulju,
qtinntghw-
pwnpmbquqgpu-
Juwb wyluw-
wnwpltp

0y
$hGw Guwlywmb
wilpnjnjGlph
qom] wy
owfuubip

Quuwhwuw
npnuiwyGnph-
Gtip

14

Qnpownhp hpfuwGmpjwG, whnmwlwl JunuuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwl
twpihGGtph yupnmmpymGaiph qupgqugnd
(GuwhuwnwpGhph wpluwmwuqdtph twuny)

12,000.0

12,000.0

12,000.0

05 03 01

03

‘LhinnpmuGhp «Cpowlyw thowjwynph ypw
Gtpgnpompjw inGhwnnphGgh YhGumpnG» MOUTY-mu
hwunntl vwppunpmuGtph dtnpppiwG hudwp

33,946.9

33,946.9

33,946.9

05 03 01

05

‘LhinnpmuiGbp «Cpowlyw thowjwynph ypw
Gtpgnpompjwa inGhwnnphGgh YLGumpnG» MOTY-mu
uwppwnpmultph dtopptipdwG hudwp

110.0

110.0

110.0

05 04 01

14

‘LtinypmuGbp «unupnh winwny whwnwljwi
wpgling» MOUY-mu mpw GuwnpuwhG
uwppunnmuiftph, vwppwnpmuiGhph L ny
Gmpwlywl hhiGulyw G thongGtph dtnppmiwb
hwdwp

3,263.0

3,263.0

3,263.0

05 06 01

21

Q-npownhp hyfuwGmpjwG, whnmwlwl JjunuuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwl
twpihGGtph yupnmmpymGaiph qupgqugnyd
(GuwhwnuwpmpymGitph wyluwwwljuwqikph Swuny)

4,770.0

4,770.0

4,770.0

L UUNJUrNMe-3ULL UALLEGN MESULUL

9-NF3Lh GUAUJUNMrUTL JULNMESNRML

2,500.0

2,500.0

0.0

0.0

0.0

2,500.0

0.0

wjn pynid’

01 03 03

05

Qnpownhp hpfuwGmpjwG, whnwlwl JjunujuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwl

twpihGGtph yupnmmpymGaiph qupgqugnd

2,500.0

2,500.0

2,500.0

<4< SUrUvLUshy UUNUJUNrUTY
LULULULARE-3UL 20UBPYL SLSEUNRMESUL

NESULUUL UNUPSE

300,000.0

300,000.0

0.0

300,000.0

0.0

0.0

0.0

wjn pynud’
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
OruQ-LELh Y GUSULNLERD
= u L QUSUL. LLAUUBLE | PhiwbuuywG Chlptph L wnwqnnwlwd, f; Gy
3 uuduLarULEee Chliptiph L dhGwGuwljwb
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
04 02 04 13 | Annquiw6 hwiwlwpghph hhiGwGnpngnid 300,000.0 300,000.0 300,000.0
L ULENFE3TL 5J GhSNAMI3UL
LURULULARE3OR, 946,422.0 946,422.0 0.0 0.0 0.0 946,422.0 0.0
wjn pynud”
09 02 02 | 07 [ Uyjwg nupngGtph hwiwywpgh GhpnGoud 391,800.0 391,800.0 391,800.0
12-wdjw Yppmpjwl wigiwb Juwwlygmpyuip 6
09 06 01 28 |mwptlwb tpkluwGtph numgiw6 uqiwytpopiw 6 2,000.0 2,000.0 2,000.0
hwiwp wihpwdtym qmyph dtnpplpmd
‘LhinypmuGhp «GplwGh pwwmpnbh L YhGngh
09 06 01 | 38 Wbl hmnhmnum MOUY-m 13,114.0 13,114.0 13,114.0
‘UhpnnuiGkn hwGpuyppulwl nupngGhap
09 06 01 | 40 hunurlyunahsGlpmy hunfuypbym Guuumlm] 499,508.0 499,508.0 499,508.0
‘UhpnnuiGhp hwGpuyppwywb nupng Gipnud
09 06 01 42 [pwquwghwmmpjwb uphGhwGhph YepuljwGeiiw i 25,000.0 25,000.0 25,000.0
hwdwp
‘LUhpnnuiGbp «GplauGh
09 06 01 44 |pdrjwhnqbipwGwiwGyuiwpduljub qGwhwminG 15,000.0 15,000.0 15,000.0
YtGwmpnG» MOAUTY-mu
L ucuunNkseh LUULULNRISNFY 919,219.4 919,219.4 68,147.7 312,530.2 19,000.0 519,541.5 0.0
wjn pynid’
08 | 02 | o1 | o [VErmrmuiln «Qujwunuth wqquihl gpuugum 8,000.0 8,000.0 8,000.0
MNNUY-nud
08 02 01 [ 05 |vhpyumuiGtp gpunupwGibpnud 101,265.0 101,265.0 0.0 0.0 0.0 101,265.0 0.0
wjn pynid’
«wjwunwih wgquhl gpugupuly NOUY 12,859.8 12,859.8 12,859.8
«dGyn-Uwnp wijwl weguyhl dwlywluwd 33,176.4 33,176.4 33,176.4
qpunupui»y NNUY
«Gpud)mwghmnwlyub gpunpupuiy NOAUY 7,118.3 7,118.3 7,118.3
«L.Mtnpnuywlh wijul UpwquonnGh dwpquhG 7,509.7 7,509.7 7,509.7
qpunupui»y NNUY
«O0.Qnipwpyubh wijwl Upwpwwnmh dwpquhG 4265.1 4265.1 4265.1
qpunupui»y NNUY
«Uptwyphph dwpqujhl gpunupuiy NMOUY 3,471.1 3,471.1 3,471.1
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
nuuuywpgiwd | 2 CnuikGn ng ‘Lwhuwadwh-
& OPUALLED Gl GUSUCAALEER cuvruuUtLL $hGwGuwlwb Chiliptiph L mml;:nu?wllulﬁ, 0 Uwughuw
3 uLduuarULEee Chliptiph L dhGwGuwljwb
= wlnyGtph 2hGmpjmGGtph qhnntqhw- npudwinph-
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
2 E = owluubip puipap) EpwGnpngnud Yl wyhuw- gw I
=h tuubip
wnwpltp
«d.MNunpnuywlh wijwb d-tnwppniGhph dwpquyhl 3,045.7 3,045.7 3,045.7
qpunupui»y NOUY
«Ununiwjph dwpquhl gpunupuly NMOUY 2,832.9 2,832.9 2,832.9
«Chpwyh dwpqujhl gpunupuiy NOUY 5,663.8 5,663.8 5,663.8
«UjniGhph dwpquijhl gpungupuiy MOUY 3,463.0 3,463.0 3,463.0
«Swyniph dwpquijhl gpungupuiy NMNUY 2,355.0 2,355.0 2,355.0
«Lnnnt ywpqujhG gpunupuy NMOUY 11,753.6 11,753.6 11,753.6
«dwjng Inph dwpquhl gpunupui» NNUTY 3,750.6 3,750.6 3,750.6
08 02 02 [ 03 |vtpypmuiGtp pwlqupudibpnud 99,981.5 99,981.5 0.0 0.0 0.0 99,981.5 0.0
wjn pynid’
«wjwunwih wgquihG yuwnybpwupwhy NMAUY 83,475.2 83,475.2 83,475.2
«wjwunwih ywuninipjub pwlqupui»y NMOUY 1,790.0 1,790.0 1,790.0
«G.Quptlgh wijwl qpuiuwlnpjub L wpytunhp
puliqupuily MUY 1,933.1 1,933.1 1,933.1
«.Cupuwiptjwih wijub dnpnyppujul wpybunp 1,429.8 1,429.8 1,429.8
pwlqupul» NOUY
«ODnuwu b wpytunp puGqupuiy NOUTL 312.5 312.5 312.5
«U Uwpjwlh nmniG-puwlqupuby NNUY 428.5 428.5 428.5
«L.Oniwljubih puwiqupuiy NOUY 607.3 607.3 607.3
«G.Qupklgh nntG-pulqupub» NNUY 883.0 883.0 883.0
«U1.UyblGghwpjuwlh wintG-pulqupuiy NOUY 1,129.0 1,129.0 1,129.0
«U.JuwswwmpjuGh nntG-pulqupui»y NMOUTY 242.2 242.2 242.2
«8nigwhwlnbuwjhG YaGumpnly NOUYG 586.8 586.8 586.8
«u.Upnyjubh mniG-pulqupui» NAUY 804.7 804.7 804.7
«GpJuln Lnswph pwlqupui» NOUY 3,189.6 3,189.6 3,189.6
«U.dwnwowinyh puwlqupuly NOUY 95.0 95.0 95.0
«Dwjnwpybunh pwlqupul»y NOUY 50.0 50.0 50.0
«pwgnubh tpypughnwywl puwlqupui» NMAUY 100.0 100.0 100.0
«Opphynt tppwypGhph wintG-pwGqupuiy NAUY 380.0 380.0 380.0
«Muwuniwipwinipwjhl wpgting-pwlqupwbttph L
wuwwundwlwl showywjph wwhww lnipjwd 1,603.9 1,603.9 1,603.9
ownwjnipjniliy NAUY
«EptipniGhy yuwndiwhGwghnwlwl wpgbing-
puliquipuily MOUY 940.9 940.9 940.9
‘LhinypmuiGbp «dnnnypnuyui untndwgqnponpjwub b
08 02 04 | 08 wphtunugnpdmpywa YhGupni» MOUY-hG 1,448.4 1,448.4 1,448.4
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
3 uuduLarULEee Chliptiph L dhGwGuwljwb
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
‘LhinypmuGbp «U2wlympwyhG wpdtpGhph
08 02 04 | 09 thnpéwapnlyG YbGnpnGy MOUY-m 5,150.0 5,150.0 5,150.0
‘UhinypmuGhp «Uy. Uyblnupjubh wijwb ougtpwjh
08 02 05 | 09 L putanh wiumbhuwlwe punnpniy MOUY-nG 430,000.0 430,000.0 312,530.2 117,469.8
‘UtinypmuGhp «Q-. UniGnmyjuGh wijwa wqquyhG
08 02 05 10 wilpuntthulyw pnpnty MUY 6,368.0 6,368.0 6,368.0
08 02 05 11 [vbpyumiGhp puwnpnGibpnud 39,076.8 39,076.8 0.0 0.0 0.0 39,076.8 0.0
wjy pynid’
«Gpwdynwlwl judtpwihl yhnwiwl punpni» 3,000.0 3,000.0 3,000.0
NNy
«Upunuwpwwnh Wvwpuwquih wijuwl yhnwlwh
nputwn G punpnty MNUY 36,076.8 36,076.8 36,076.8
08 | o2 | o5 | 1o [VErmpmudGn hwdpnguyhG 2,030.0 2,030.0 0.0 0.0 0.0 2,030.0 0.0
Juqiutpympjm GGipma
wjn pynid’
«wj hnglinp bpwdywmnipjub YalGupnby NOAUY 1,730.0 1,730.0 1,730.0
«Unuihnwuh wijwb uwitpwjhG tpudyunnipju i
ity MO 300.0 300.0 300.0
‘LhinnpmuGbp «Qwumwjwdtpugpuijub «dwyl»
08 02 06 | 04 WhGnumnmfy MOWY-m 7,498.0 7,498.0 7,498.0
‘LhinppmuGbp «{wywuwnmwGh wqquiyhG
08 02 06 | 05 WhGnlkGnpnty MOUY-nus 90,000.0 90,000.0 90,000.0
08 02 07 | 03 [ <mpwpdwGGhph Jhpwlnungmy L ytpwljubqbGmu 87,147.7 87,147.7 68,147.7 0.0 19,000.0 0.0 0.0
nphg’
<4< Upwqwonwmbh dwpg 10,000.0 10,000.0 10,000.0 0.0 0.0 0.0 0.0
q. Qwppwywl Uunyjwopiywy Juip 10,000.0 10,000.0 10,000.0
<4< Ywyng dnph dwpg 15,000.0 15,000.0 10,000.0 0.0 5,000.0 0.0 0.0
q. Upnwpnilp Swuwg puwph uip 10,000.0 10,000.0 5,000.0 5,000.0
q. fvwshy Lwpynthh Julp 5,000.0 5,000.0 5,000.0
<4< Upwpwwmh dwpgq 43,000.0 43,000.0 29,000.0 0.0 14,000.0 0.0 0.0
q. Mipgwdnnp UwpqutinnniGnt wipng 4,000.0 4,000.0 4,000.0
Tunupnyh wimwn Ungong Julp 7,500.0 7,500.0 7,500.0
funupnyh winwn {<wynig pwnh Julp 31,500.0 31,500.0 25,000.0 6,500.0
<4< Sunjniph dwpg 19,147.7 19,147.7 19,147.7 0.0 0.0 0.0 0.0
q. Uswpynin Unwplijng Juip 19,147.7 19,147.7 19,147.7
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
3 uuduLarULEee Chliptiph L dhGwGuwlw b
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
Qnpownhp hpfuwGmpjwG, whnmwlwl JunuuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwl
01 01 01 14 swpshGGtph YwpnnmpymGGkph qupquigns 9,000.0 9,000.0 9,000.0
(GuwhuwnwpGhph wpltwwwywqdtph twum])
09 | o5 | o1 | og [VErmmmuiln wpmnunummgwijuG 440.0 440.0 440.0
nuumhwpwlnpjwl hwumwunip jm 6Gkpmd
Qnpownhp hyfuwGmpjwG, whnwlwl JunujuwminuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwl
08 06 o1 | 02 swpshGGtph YwpnnmpymGGkph qupquigns 6,144.0 6,144.0 6,144.0
(GuwhwnuwpmpymGitph wyluwwwljuwqikph Swuny)
12-wdjw Yppmpjwl wigiwb Juwwlygmpyuip 6
09 06 01 28 |mwptwb tpkluwGtph numgiwG uqiwybtpopiw 6 200.0 200.0 200.0
hwiwp wihpwdtym qmyph dtnpplpmd
‘UtinypmuGhp «GplwGh M. b, Qujynjuym wajwa
09 06 01 36 |theGwlwng dwulGwghmwlwb tpud)mwulw i 17,500.0 17,500.0 17,500.0
nunng» NOUY-n
09 | 06 | o1 | 37 [VErmmmidGtn dhohG dwubwghumulwG muniGuljuG 7,970.0 7,970.0 7,970.0
hwunwwmnpjm GGEpmu
4L ShLUTLULELE LUMULULNRE-3NRY 86,240.0 86,240.0 0.0 0.0 0.0 86,240.0 0.0
wjn pynud”
Qnpownhp hyfuwGmpjwG, whnwlwl JjunujuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupwjwpiwl
01 01 02 | 09 SwpshGGtph YwpnnmpymGGkph qupquigns 86,240.0 86,240.0 86,240.0
(GuwhwnuwpmpymGitph wyluwwwljuwqikph Swuny)
L EuNuNUhLYU3h VO ULULNARE-3NRY 33,300.0 3,300.0 0.0 0.0 0.0 3,300.0 30,000.0
wjn pynud”
08 02 01 05 |'utpynmultp gpunyuipuGitpng 3,300.0 3,300.0 0.0 0.0 0.0 3,300.0 0.0
wjn pynud”
«GFhunwuntjuhyuiwui jpuuynipjwl hwjjulwb
YhGnpnty MOUY 3,300.0 3,300.0 3,300.0
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
£ OPUALHLB BU GUSULNALERD CLAUUBLE | phiwGunluwG Chiliptiph L - 0, G
3 uuduuarULtee Chlptph L $hGwlGuwljwu b _
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
04 | o1 | o1 [ og |VRiwnpwwngmbwptpwliuG wuwh 30,000.0 0.0 30,000.0
YupnnmpmGGEph qupqugnud
L UMNNLSh 64 GLhSUUULANRE-SUL
UPSELR LULUICULARPEORL 127,360.0 27,360.0 0.0 0.0 0.0 27,360.0 100,000.0
wjn pynud”
‘LhinypmuGhp «UwnpuwjhG pdoympjwb L
07 02 02 | 08 [(hwlywnnuhGqujhG dSwpwynpjul hwipwwbtnwljwb 5,000.0 5,000.0 5,000.0
YtGwmpnG» NMOUTY-mu
‘LhinypmuGhp «Gphnwuwpnuljuw shongwnm Ghph
08 04 01 | 03 QG YbGmpnGy MOUY-nus 12,360.0 12,360.0 12,360.0
Uwpquiljwenyg Giphd, twpqugunpngGiph L
09 05 01 09 [dwpquljw hwuwpuwljuwljw 100,000.0 0.0 100,000.0
YuqiwlytpuympymGGtphG qmypny wujwhnymd
09 | o6 | 01 | 37 [VbrmpnuiGtn dhohG dwuGughuulwt muniGulwd 10,000.0 10,000.0 10,000.0
hwunwwmnipjm GGEpmu
4L ELELAGShuUUsh Y 2vUUly
AUOULLELP LUMULULAREBORY 36,800.0 36,800.0 0.0 0.0 0.0 36,800.0 0.0
wyn pynid’
Qnpownhp hyfuwGmpjwG, whnmwlwl JjunuwjuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupwjwpiwl
04 03 05 [ 04 SwpshGGtph YwpnnmpymGGkph qupquigns 17,000.0 17,000.0 17,000.0
(GuwhwnuwpmpymGitph wyluwwwljuwqikph Swuny)
04 | 04 | o1 | o1 |FPUmpwlwhtumuumquit wyfuwnwipitph 19,800.0 19,800.0 19,800.0
wowlgiwmb dSwnwympjmbGtp
4< setuwunnesk B9 yUMh
LU UCULARG3OE, 2,920,799.8 2,920,799.8 88,768.3 2,647,298.7 154,732.8 30,000.0 0.0
wjn pynud”
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
3 uuduuarULtee Chlptph L $hGwlGuwljwu b _
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
Qnpownhp hpfuwGmpjwG, whnmwlwl JunuuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwl
01 01 01 14 swpshGGtph YwpnnmpymGGkph qupquigns 30,000.0 30,000.0 30,000.0
(GuwhuwnwpGhph wpltwwwywqdtph twum])
01 01 01 08 |Jwpswlw@ opjtiunltph hhiGwGnpngmui 2,100.0 2,100.0 2,100.0
04 | 05 | o1 | op |Pamwlpult Grwhwinipyull unnduwGuymphGtp) 2,782,559.3 2,782,559.3 88,768.3 2,554,247.4 139,543.6 0.0 0.0
hpfGwlnpngmd wyn pymy
CQwlwuwnhGbph hpdGwinpngnud 2,554,247.4 2,554,247.4 0.0 2,554,247.4 0.0 0.0 0.0
‘Lwhuwgow hG wytuwwmwlpGtip 139,543.6 139,543.6 0.0 0.0 139,543.6 0.0 0.0
Uy 88,768.3 88,768.3 88,768.3 0.0 0.0 0.0 0.0
1. 8w GwuyuphGtph hhiGwlnpngnid,wyn pymu 2,485,205.5 2,485,205.5 0.0 2,485,205.5 0.0 0.0 0.0
1.1 Upowpbimulpuul Gywlwlmpul
T S —————- 1,053,370.4 1,053,370.4 0.0 1,053,370.4 0.0 0.0 0.0
/& U-2, 6plauG-Snphu-Utnnh- bpwGh vwhdwG 125,249.8 125,249.8 0.0 125,249.8 0.0 0.0 0.0
yu173+850-yud180+000 (q.9-npwjphg nhyh 12,810.0 12,8100 12.810.0
q.UwnGwynilp)
Q-nphu pwnupny wiglng hwndwod 59,178.8 59,178.8 59,178.8
4i87+000-yui87+120 3,945.3 3,945.3 3,945.3
yd 244 unnulpwjhG hwnygwo 49,315.7 49,315.7 49,315.7
We U-3, Uwpquipw-wGwénp-Swohp- I puunwth 78,905.1 78,905.1 0.0 78,905.1 0.0 0.0 0.0
uwhiwb
yd 174+240-4yu179+240 59,178.8 59,178.8 59,178.8
U-3-Lnpwpkb 19,726.3 19,726.3 19,726.3
/& U-1, 6plauG-Qymiph-dpwumwbh uwhdwG 163,728.0 163,728.0 0.0 163,728.0 0.0 0.0 0.0
d70+980-yi78+900 /BwihG-Uwunmwpw/ 88,768.2 88,768.2 88,768.2
ui78+900-yd-81+950 49,315.7 49,315.7 49,315.7
198+000-yi99+300 25,644.1 25,644.1 25,644.1
/& U-4, 6plauG-UluwG-boluwG-UnpplowGh uwhiwG 424112 42411.2 0.0 42411.2 0.0 0.0 0.0
4ud20+000-yi31+000 hwwnjwoh htGwwwwntph
Gnpngnud L putiwdpGhph Swppnud 13,808.1 13,808.1 13,808.1
Ju67+500-4169+000 hnnuwwuwmwnh yepwlwlqlinud 19.726.3 19,7263 19.726.3
L htGlwwwwmbph Junnignid
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mugnnuljwi 0 Gwwhuuwyg
3 uuduLarULEee Chliptiph L ? dhGwGuwljwb B
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
YU 89-n1d unnphG htGwwywwmbph Junnignid 8,876.8 8,876.8 8,876.8
/& U-8,Jwlwdnn(U6-h humiwa Yhwm)-Ymhowb 19,726.3 19,726.3 0.0 19,726.3 0.0 0.0 0.0
YU 39-nid unnquilpwjhG hwwnywoh Gnpngnid 19,726.3 19,726.3 19,726.3
W& U-9, PuhG-Luwpwlbpum-Onipphwjh uwhiwb 98,631.3 98,631.3 0.0 98,631.3 0.0 0.0 0.0
|yd 0+000-yu 7+000 98,631.3 98,631.3 98,631.3
W& U-6, JwGwdnp-Gyujbpnh-JdpwumwGh vwhiwG 118,357.6 118,357.6 0.0 118,357.6 0.0 0.0 0.0
4ui0-+000-yi2+000 108,494.5 108,494.5 108,494.5
YU 51-nid htGwwywwnbph Junnignd 9,863.1 9,863.1 9,863.1
/8 U-10, UlwG-Uwpunn Gh-Qhmu 130,193.4 130,193.4 0.0 130,193.4 0.0 0.0 0.0
3-nghg 5-pn Yd-Ghph opwowdly hwunywolhip 130,193.4 130,193.4 130,193.4
/8 U-14, Onjwugymn-Cnpdw-Jwnpntihu 128,220.7 128,220.7 0.0 128,220.7 0.0 0.0 0.0
4ui6+620-4d12+200 98,631.3 98,631.3 98,631.3
4i53+000-yi54+000 29,589.4 29,589.4 29,589.4
U=-5, GplauG-Upiwyhp-Onipphuygh uwhdwl 147,947.0 147,947.0 0.0 147,947.0 0.0 0.0 0.0
129+200-yi33+000 147,947.0 147,947.0 147,947.0
1.2 SwlpwuybmwljuG Gwlulmpnuli
w/GuunyunhGn, wn pYnu 1,203,938.8 1,203,938.8 0.0 1,203,938.8 0.0 0.0 0.0
<-9, /X-8/ - Rtppwln) -MJhG w/6-h LtphG WJhG-
Ubpph g hunngud 27,616.8 27,616.8 27,616.8
<-88, U-10 - <npu 74,959.8 74,959.8 74,959.8
<-89, U-10 - Lwpwgnifu 17,753.6 17,753.6 17,753.6
<-182, /U-3/ - Mn1pyhlin 59,178.8 59,178.8 59,178.8
£-169, /U-3/ - 2puptiG-LnGwywi 69,041.9 69,041.9 69,041.9
<-37,/X-37/ - dwpwquyulih wuwundwywl hnpwpdwl 86,795.6 86,795.6 86,795.6
<-26, Unntignid Uwwpwywlph hnypwpdwGhG 12,490.0 12,490.0 12.490.0
/Uywonmp-UwwpwywGp/
<-29 UlwG-OwnyniGp-2nupbtp (hwnjwo UlwG- 11,140.0 11,140.0 11.140.0
Ownynilp)
<-4 GplwG-Gndupn-Upwgynin-<wppwuyjwi-U3
(hunnfwd wppunu-bpigwpuith) 5,570.0 5,570.0 5,570.0
<-40 UptGh-fowshy-9-Gphy-GntiqGuadnp, (hwnqud
Mo (U2)-Uunn) 6,940.0 6,940.0 6,940.0
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
& OPUALLED Gl GUSUCAALEER cuvruuUtLL PhGwGuwmlwb Chliptiph L mwgnunuljui 0 Quuyhnu
3 uuduLarULEee Chliptiph L ? dhGwGuwljwb B
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
/g L-21, Mhu(L-17)-4nnnd-Upphy-Ujwgjug,
hwwnywo §u40+190-1i52+466 (Upwquo,Shwptipn 82,850.3 82,850.3 82,850.3
wudwjmuwpbinnl)
<-8 GplwG-Upnwywwm-Uyqugu 469+700(Utugjwbh
ulhqp)-417-4900(p. Upunuywn)(8.24 ) 21,900.0 21,900.0 21,900.0
<-37, U-4 - Ujqthnyhun - dwquptiG - Mwnwyjwpup -
Ujqbiyqup Yull-nid unqulpwjhG hwnjwd 19,726.3 19,726.3 19,726.3
<-40 UptGh-fowshy-a-Gtphy-GntiqGudnp 1i8+000-
122000 69,041.9 69,041.9 69,041.9
<-34, Unbtthw GwywG-NppyniGnjt-dpwuwm. uwhdiwb
12+000-4155+000 69,041.9 69,041.9 69,041.9
<-30, U4-Bwdipwpwy-tpwiumhy Y{u48+000-4u51+600 87,781.9 87,781.9 87,781.9
<-138, Pwh(-{wgupti-Swiwpwuwp-Chpwlh
dwpgh vwhiwG Yyd 12+400-4115+000 59,1788 >9,178.8 59,178.8
<-82, U2-Lhdp-SwywmniG 90,740.8 90,740.8 90,740.8
<-8, GplwG-Upnwpwwm-Ujqlw6-U=2 u20+400-
4126+400 105,338.3 105,338.3 105,338.3
T;izo(()léjmdph-hululu-llliuxuhlu-“‘lIU(U'-l) [4u11+000-yd 59,178.8 59.178.8 59.178.8
<-199, Gwywp-Lnpwwnniu 88,768.2 88,768.2 88,768.2
<-39, U-10-Gwywn-U-10 yui 0+000- 4+500 78,905.1 78,905.1 78,905.1
! ;ﬂ Zwﬂq‘"f[’ﬁ lywlwhmpjw( dwliuyuphltn, wyg 227,896.3 227,896.3 0.0 227,896.3 0.0 0.0 0.0
S-7-38, /X-21/ - QunphG-Lwhwybnwywb w/6-h /L-21/- 27,6168 27,6168 27.616.8
{wnhé hwnjwd
S-9-7 CwwnhG-Yupipw)tG-MNbmfudninh {d0+000-
36+000 (hunnywd SunnhG-Gnbghu) 12,930.0 12,930.0 12,930.0
$-9-38 dwyp-Uquntly 12,270.0 12,270.0 12,270.0
S-5-31 Ununbignid Cwdniy gyninhG Yud2+340-4d9+000 18,060.0 18,060.0 18,060.0
S-10-7 Unubigniud Ulpwip gyninhG i 1+00-yu1+500 810.0 810.0 810.0
U2-Uqupu-Midwlhu (huwnjwo U2-Uqupwl) 21,380.0 21,380.0 21,380.0
/Qwuuw G/
Uynilp qjnin-GpluwG-Qjnuiph Miu 2.548 hwnwoh
Jbpuinpnanus (UpuiquiomnGh Swpg) 13,100.0 13,100.0 13,100.0
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
3 uuduLarULEee Chliptiph L dhGwGuwlw b
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
Gplw- G- ynudph-dpwuwmwlh vwhdw G w/6-hg nhuh
UpwquonwunG 2.84d hwnjwd Upwquonwmbh dwpq) 4,950.0 4,950.0 4,950.0
S-2-11, 2-9-Gwlwnin-Uplpyww Yu0+000-i3+500 49,315.7 49,315.7 49,315.7
S-2-18, Upquytim-Uplpwwn {u0+220-4ul1+700 L yu
2470056 +400 59,178.8 59,178.8 59,178.8
Quntiigwyw( - Lntuwltipmh dwGwuwwphh 15448 5917.9 5917.9 5.917.9
hwwnjwo
Chpwlh dwpgh Quenin qjninnud qunGynn UhGwu
Uytunhujwlh minil puGqupulnp G- jnuiph — dwlwdnp
dwynnnniG Juwnn 0.4548 wGwwywpwhwwnywoh 1,380.8 1,380.8 1,380.8
hhdGwlnpngnid
Chpwyh dwpgh Uwpwqynin hwiw)jGph Uwnpwqjnin-
Pwypw thohwiwjlpwjhl dwlwwwphh 986.3 986.3 986.3
Ytpwnpngnid
2. PGk Ghiph hhdiGwlnpngmy, wjyn pymui 69,041.9 69,041.9 0.0 69,041.9 0.0 0.0 0.0
QhihowGh pniltijh hhdGwlnpngnid 39,452.5 39,452.5 39,452.5
Mn1oYhGh EnGuwlgph pniGtjh hhdGwlnpngnud 29,589.4 29,589.4 29,589.4
- Gwlunywphuihl GwGGtph,gngw urlGtph 39,452.5 39,452.5 39,452.5
wunpunmy b mbnunpma
- Guiwnyuiphurdtpd hulquuywl gunhGtph 493158 49,315.8 49.315.8
pupkljupgmi
- Lwhiwgdw hG wyuwwmwlpibp 80,581.8 80,581.8 80,581.8
- Skhulhyulwb huynnmipim G 41,8394 41,839.4 41,8394
- {GnhGwluyhG huynympym G 17,1224 17,122.4 17,1224
04 | 05 | o1 | 04 SZZZ‘,"””P‘"‘”JM opytlymlitiph Bpuiliwnpngntd; wyy 106,140.5 106,140.5 0.0 90,951.3 15,189.2 0.0 0.0
Uhowtinwju€ GywGwlmpjwub
w/6wuruphGhph6, wn ppd 43,016.5 43,016.5 0.0 43,016.5 0.0 0.0 0.0
/8 U-3 Uwipqupu-Jdw Gwdénp-Swphp 15,781.0 15,781.0 0.0 15,781.0 0.0 0.0 0.0
yui5+300 Yuwuinipo 15,781.0 15,781.0 15,781.0
/8 Onjwqymn-Cnpdw-JwpnkGhu 19,726.3 19,726.3 0.0 19,726.3 0.0 0.0 0.0
25-pn Yd-h fudnipg 9,863.1 9,863.1 9,863.1
4ui63+650 Juiinipg 9,863.2 9,863.2 9,863.2
Gplwl-Gpuufu wjundwGuwwnhh' Cwhmijwa-
SwthbpurlyuG Yunsmpoh hpnsGwGnpnans 2,958.9 2,958.9 2,958.9
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
3 uuduuarULtee Chlptph L $hGwlGuwljwu b _
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
Upwpwmp twpgh Qnih puGunwih gphunjwp 2-h L
Gplawl-Gpuwufu wjwmniwypmnm hwndwl mtnma 4,550.3 4,550.3 4,550.3
Yunmgywud Juipgh Yyipwwnnigmi
Lwlpwwbmwlywa Guiuympjwub
w/6wuruphGhph6, wn pnd 22,290.6 22,290.6 0.0 22,290.6 0.0 0.0 0.0
/6 £-13 Eouhwohl -Uwuhu 13,413.8 13,413.8 0.0 13,413.8 0.0 0.0 0.0
8-pn Yu Ywinipe 4,537.0 4,537.0 4,537.0
15-py Yd fudnipg 8,876.8 8,876.8 8,876.8
/& £-33, Unbtthw GujwG-Bwnnui-Ujgkhwm 8,876.8 8,876.8 0.0 8,876.8 0.0 0.0 0.0
419+940 ywdnipg 8,876.8 8,876.8 8,876.8
:l“;{‘l?mjhﬁ Gz Gurympye@ GwGureguphGEphl, wn 25,6442 25,6442 0.0 25,6442 0.0 0.0 0.0
1 Wy 5,326.1 5,326.1 0.0 5,326.1 0.0 0.0 0.0
Mhu(U-7) - Gnuuwp-GuplGwenip w/6-h MNiu-
Qi hunndwoh uidnipg 5,326.1 5,326.1 5,326.1
UymGhph dwpg 20,318.1 20,318.1 0.0 20,318.1 0.0 0.0 0.0
NpnunuwG-N1y0 fudnipg 20,318.1 20,318.1 20,318.1
‘Lwhiwgowjhi wluwwnw GpGhp 13,177.3 13,177.3 13,177.3
StuGhjwlw6 huynympimG 1,511.2 1,511.2 1,511.2
<LbnhGulywjihG hulingmpjmG 500.7 500.7 500.7
L LUAULUTCHRULNME3UL LULTLULNMI-3NMY 10,160,806.4 10,160,806.4 1,720,689.4 8,418,297.0 4,500.0 17,320.0 0.0
wjn pynud”
Qnpownhp hpfuwGmpjwG, whnmwlwl JjunuwuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupwjwpiwb
06 06 01 | 03 SwpshGGtph YwpnnmpymGGkph qupquigns 17,320.0 17,320.0 17,320.0
(GuwhwnuwpmpymGitph wyluwwwljuwqikph Swuny)
07 06 01 | 04 | Unnnowwwhwlwé opjiljmGtph hhiGwlnpngnud 1,117,097.5 1,117,097.5 0.0 1,117,097.5 0.0 0.0 0.0
wj pynid’
Eplwi punup 57,942.2 57,942.2 0.0 57,942.2 0.0 0.0 0.0
Dwlwnpgjubih wiy. ninnigpuwpwlnipjub YaGupnb 57,9422 57,942.2 57,942.2
22 Umniuhph dupg 39,461.9 39,461.9 0.0 39,461.9 0.0 0.0 0.0
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Ouifuutiph wyn pynud
qnpownwlwl .
nuuuywpgiwd | 2 CnuikGn ng ‘Lwhuwadwh-
& OPUALLED Gl GUSUCAALEER cuvruuUtLL $hGwGuwlwb Chiliptiph L mml;:nu:}mllulﬁ 0 Uwughuw
3 uLduuarULEee Chliptiph L ? dhGwGuwljwb B
= wlnyGtph 2hGmpjmGGtph qhnntqhw- npuiw inph
) & 3 © qony 2hGnupym GGERR g huuy pwpumbtiquqp- wipnp Ghpf Gt
] E 3 2hGuwpwpmpymG qomy wy
2 E = owluubip EpwGnpngnud Yl wyhuw- .
=h tuubip
wnwpltp
p.Utinppp hhjwGnwiGng 39,461.9 39,461.9 39,461.9
22 Upwpwwnh dunpg 114,700.7 114,700.7 0.0 114,700.7 0.0 0.0 0.0
p.Upunwpwwh hhjwlnwlng 114,700.7 114,700.7 114,700.7
22 Upwquénnih dupg 95,833.4 95,833.4 0.0 95,833.4 0.0 0.0 0.0
p. UWynnwpwyh hpqulnuing 95,833.4 95,833.4 95,833.4
22 FEnunpniiuhph dupg 365,611.0 365,611.0 0.0 365,611.0 0.0 0.0 0.0
p. UlwGh hngbpnidwlw G hhjwGnuing 147,611.0 147,611.0 147,611.0
p.UlwGh hhjwGnwing 218,000.0 218,000.0 218,000.0
22 Lonpnt dwng 72,948.3 72,948.3 0.0 72,948.3 0.0 0.0 0.0
p.Uywytipnnt hhjwlnwng 72,948.3 72,948.3 72,948.3
22 Ynuuyph dwng 283,400.0 283,400.0 0.0 283,400.0 0.0 0.0 0.0
p. Gnwupnh hpywlnuwing 54,500.0 54,500.0 54,500.0
Upnyjwbh oGGpuwwnnt G 65,400.0 65,400.0 65,400.0
«UpnyjuGh AU» OLL 163,500.0 163,500.0 163,500.0
22 Sunioh dwipg 87,200.0 87,200.0 0.0 87,200.0 0.0 0.0 0.0
p-Ltpgh hhywlnwing 87,200.0 87,200.0 87,200.0
08 02 01 01 | UpwynipwyhG opjtijunltph hhiGulnpngnd 389,156.6 389,156.6 0.0 389,156.6 0.0 0.0 0.0
wj pynid’
Gplwh punwp 227,640.5 227,640.5 0.0 227,640.5 0.0 0.0 0.0
{Jwjwunwih wgquyhl gpunupui 88,149.2 88,149.2 88,149.2
fGn Uwnp wiul wqguyhl dwiulud 99,970.1 99,970.1 99,970.1
gpunupw i
Gpuwdymwghnwlwl gpupupwl 39,521.2 39,521.2 39,521.2
22 Jwyng dnnph dupg 42,690.9 42,690.9 0.0 42,690.9 0.0 0.0 0.0
wj pynid’
Jwjnn Inph dwpquhl gpunupwd 42,690.9 42,690.9 42,690.9
22 Upwquénnith duipg 27,371.5 27,3717.5 0.0 27,377.5 0.0 0.0 0.0
wj pynid’
UpwquonnGh dwpquyhl gpunupw 27,371.5 27,3717.5 27,377.5
22 FEnunpniuhph dwupg 16,442.5 16,442.5 0.0 16,442.5 0.0 0.0 0.0
wj pynid’
p-Gwywnh nuunignnujwb YaGupnGh pwnupwjhl 16,442.5 16,442.5 16.442.5
gpunupw i
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) wlwnpGhph Chliptiph L 2hGnipymGakph qtnnbighw- PhOWOUWYWE oy -
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
2 E = owluubip puipap) EpwGnpngnud Yl wyhuw- gw I
=h tuubip
wnwpltp
22 Swnioh dwipg 75,005.2 75,005.2 0.0 75,005.2 0.0 0.0 0.0
wj pynid’
Swynih dwpquyhG gpunupul 53,192.0 53,192.0 53,192.0
p.YHhihowlh punupwihl gpunupul 21,813.2 21,813.2 21,813.2
08 02 01 04 | UwynipwjhG opjtijmbtph phGwpwpmpymG 109,000.0 109,000.0 109,000.0 0.0 0.0 0.0 0.0
wjr pynid’
22 Chpwlh Jupg 109,000.0 109,000.0 109,000.0 0.0 0.0 0.0 0.0
Uwnpqujhl gqpunupul L tpypughnwyu G
pwlqupw, «Chpwy» hjnipuwlngh wywinGumwdnid 109,000.0 109,000.0 109,000.0
08 02 02 | 01 [ Upwlympwjhl opjtlmbGtph hhiGuGnpngnid 107,204.0 107,204.0 0.0 107,204.0 0.0 0.0 0.0
wj pynid’
Eplwi punup 99,844.0 99,844.0 0.0 99,844.0 0.0 0.0 0.0
wj pynid’
«U1.UyblGphwpjwlh wintG-pulqupuiy NOUY 32,700.0 32,700.0 32,700.0
«G. Quptiigh wijwl qpuliwlnipjul L wpytunh 57.225.0 57225.0 57.225.0
pwlqupui» NOUY
LU «Owupunwpuybtinnpjul wqqujhl pwlqupub
hGumpmniny NMOUY GYniqnughG hwpyh 9,919.0 9,919.0 9,919.0
hhdGwlnpngnid
22 9wyng dnnph dupg 7,360.0 7,360.0 0.0 7,360.0 0.0 0.0 0.0
wj pynid’
p. 2tpiniyh ywwlypwupwh 7,360.0 7,360.0 7,360.0
08 02 03 | 01 [ Upwlympwjhl opjtlmbGtph hhiGuGnpngnid 214,056.3 214,056.3 0.0 214,056.3 0.0 0.0 0.0
wjr pynid’
22 Juyng dnnph dwpg 38,242.5 38,242.5 0.0 38,242.5 0.0 0.0 0.0
q. UpnnwpmyGph dywynyph winil 21,800.0 21,800.0 21,800.0
q. UWdwnnih wiynuiph yapwlwnnignid 16,442.5 16,442.5 16,442.5
22 Upwpwwnh dupg 19,834.2 19,834.2 0.0 19,834.2 0.0 0.0 0.0
q. UJpwph dywynyph wintl 19,834.2 19,834.2 19,834.2
22 Upwquénnith dupg 32,885.0 32,885.0 0.0 32,885.0 0.0 0.0 0.0
q. Upwquoh dywlniyyph mwb hhdG. 16,442.5 16,442.5 16,442.5
p. UywpwGh dwynyyph mwb hhiGulnpngnud
JGutulgh6 >pounitnh >t/ 16,442.5 16,442.5 16,442.5
22 FEnunpniiuhph dupg 53,046.1 53,046.1 0.0 53,046.1 0.0 0.0 0.0
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& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
3 uuduuarULtee Chlptph L $hGwlGuwljwu b _
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
q, LntuwlyniGph Gywyniyph wnil 36,603.6 36,603.6 36,603.6
Dp.Ynyjwpjwlh wigwb Gywynyph wintl 16,442.5 16,442.5 16,442.5
22 Chpwlh Jupg 19,731.0 19,731.0 0.0 19,731.0 0.0 0.0 0.0
q.UwnGunpjniph .nniG 19,731.0 19,731.0 19,731.0
22 Lonpnt dwng 5,670.9 5,670.9 0.0 5,670.9 0.0 0.0 0.0
Owptin hudwlph - Gawlyniyph wwl wwGhph 5,670.9 5,670.9 5,670.9
Ytpwlnpngnuu I thny
22 Ynuuyph dwng 44,646.6 44,646.6 0.0 44,646.6 0.0 0.0 0.0
q.[otntlGhph Wwyniyph wmwb hhiGwlinpngnid 21,800.0 21,800.0 21,800.0
q.MonyjuGh Wywynyph mwb Gnpngnid 22,846.6 22,846.6 22,846.6
08 02 03 | 04 [ UpwympwjhG opjtljmbtph ghGwpwnmpjmbG 232,558.3 232,558.3 232,558.3 0.0 0.0 0.0 0.0
wj pynid’
22 Upwquénnith dupg 23,019.4 23,019.4 23,019.4 0.0 0.0 0.0 0.0
q.QpGwnh dpwlnyph nntl 23,019.4 23,019.4 23,019.4
22 FEnunpniiuhph dupg 29,596.4 29,596.4 29,596.4 0.0 0.0 0.0 0.0
q. Lhdph dpwlniyph niniG 29,596.4 29,596.4 29,596.4
22 Chpwlh Jupg 163,500.0 163,500.0 163,500.0 0.0 0.0 0.0 0.0
Q.ynudiphh UlgwGh wigwG d2.nwb yepuyjunnignidl 163,500.0 163,500.0 163.500.0
Jujywpwlwdtpd hpwywpwyh junnignd
22 Ynuuyph dwng 16,442.5 16,442.5 16,442.5 0.0 0.0 0.0 0.0
q.9nyph uwnpup L ywynyph mwl Junnignud 16,442.5 16,442.5 16,442.5
08 02 03 [ 03 |vwhmqowyhG wyuwwmwGpGhp 4,500.0 4,500.0 0.0 0.0 4,500.0 0.0 0.0
wj pynid’
22 Updwyphnh dupg 4,000.0 4,000.0 0.0 0.0 4,000.0 0.0 0.0
UpghGw hwdw)Gph dywynyph wnil 2,000.0 2,000.0 2,000.0
Lwnpudjwl hwiwjlph Wywynyph winil 2,000.0 2,000.0 2,000.0
22 FEnunpniiuhph dupg 500.0 500.0 0.0 0.0 500.0 0.0 0.0
UtijnGnyyw gninh dywyniyph wninil 500.0 500.0 500.0
08 02 05 | 01 [ Upwympwjhl opjtlmbGtph hhiGuGnpngnid 143,396.4 143,396.4 0.0 143,396.4 0.0 0.0 0.0
wj pynid’
El'n'?lu‘pnﬁju‘ﬁh w(qw puwnpnth 2blph Gnpngmud 1 112,043.4 112,043.4 112,043.4
Gplwlh jpwdwshyGhph whnww6 punpnl 31,353.0 31,353.0 31,353.0
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09 06 01 [ 03 | YppwlwG opjtlwGtph hhiGwlnpngnid 5,309,228.5 5,309,228.5 0.0 5,309,228.5 0.0 0.0 0.0
wj pynid’
Gplwl 2,329,661.2 2,329,661.2 0.0 2,329,661.2 0.0 0.0 0.0
wjn pynid’
phy 174 nupng 63,545.3 63,545.3 63,545.3
MbEmwlyuwl mblulninghwlwl pnito 56,856.4 56,856.4 56,856.4
phy 100 dhoG. nupng 43,478.4 43,478.4 43,478.4
Py 99 vhoG. nupng 53,5119 53,511.9 53,511.9
py 108 nupng 63,545.3 63,545.3 63,545.3
py 160 nupng 53,140.5 53,140.5 53,140.5
py 189 nupng 60,200.9 60,200.9 60,200.9
U. Gnpgbuywlh wiwG phy 158 nypng 63,545.3 63,545.3 63,545.3
Ctiiquyphph N 79 nupng 53,5119 53,511.9 53,511.9
py 185dhoG. nupng 53,5119 53,511.9 53,511.9
phy 196 nupng 43,478.4 43,478.4 43,478.4
Py 53 nupng 33,4449 33,4449 33,4449
py 87 nupng 33,4449 33,4449 33,4449
phy 93 nupngh hhiGwGnpngnid 63,545.3 63,545.3 63,545.3
Uwwlnwpjwih wijwb N 24 nupng 60,200.9 60,200.9 60,200.9
N 11 nunng 32,896.6 32,896.6 32,896.6
6. Qupbilgh wijwb phy 67 nupng 43,478.4 43,478.4 43,478.4
‘Lwp-nuh wGjwa phy 14 nupngh ququphljugnid 60,200.9 60,200.9 60,200.9
N 192 nupngh hhiGwlnpngnid 49.,498.5 49,498.5 49,498.5
phy 39 nupngh hhdptph wipwgiw 6 wpuwmwGplbp 38,150.0 38,150.0 38,150.0
Py 77 nunng 79,712.8 79,712.8 79,712.8
phy 172 nupng 100,001.0 100,001.0 100,001.0
py 197 nupng 33,186.6 33,186.6 33,186.6
py 52 dhoG. nupng 46,822.9 46,822.9 46,822.9
py 114 nupng 47,800.0 47,800.0 47,800.0
‘Unp-Lnpp hwdw)lph phy 186 nupngh pwlnjuo
htGwuwwwnh yepuwlulqlnud L nnGph nt 34,731.6 34,731.6 34,731.6
wwwuinthw(Gbph yhpwlnpngnid
py 312 dunip Swlwujwputq 85,050.0 85,050.0 85,050.0
U.MNniyypGh wigwi phy 8 vhol. upng 85,000.0 85,000.0 85,000.0
U. Gupnjuih wijwa phy 148 dhol. nupng 80,000.0 80,000.0 80,000.0
phy 153 dhoG. nupngh dwpqunwhihéh Junnignid 40,000.0 40,000.0 40,000.0
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phy 82 thol. nypngh guljwuywwnnid 13,950.0 13,950.0 13,950.0
rhy 54 dhoG. nunng 18,600.0 18,600.0 18,600.0
py 110 ShoG. nupng 105,050.0 105,050.0 105,050.0
Ap. Qnhpuiph wiywl phy 43 nupngh YhuwynuguhG 37,600.0 37,600.0 37,600.0
hwpyh yopwlnpngnid
dhghyuwyuwb ynrypunnipwih hwjjuuwl yhnwlw6
hGunhununh nuhipdGepp L nwGhph Yepwlnpngnud 39.475.0 >9.475.0 39.475.0
GplwGh ginupytunh yinwyuw wiunbdhwjh 2tlp 18,300.0 18,300.0 18,300.0
. Qwipwpdniijuwlh wy. phy 12 dheGwlwnpg nupng 65,060.4 65,060.4 65,060.4
GplwGh Gpudynwlwh phy 13 hwwnntly nupngh
wnwhph b 9innigdwl hwiwlwnpgh yepwlnpngnud 27,1150 27,1150 27,115.0
phy 191 nupngh nuhihdh L dwpwpwlh yepwlnpngnud 9,200.0 9,200.0 9,200.0
Gpluw G pwnuph phy 6 nuuntiGupwGh wwwmnthwGGhph
JtipwlnpngiwG L wpunwphG hwppupdwl hwdwp 28,2000 28,2000 28,200.0
phy 111 dh9G. nupngh wmwGhph Gnpngnid 39,808.0 39,808.0 39,808.0
«Gplwlh htGw)wpdwihl hwmiwwpgh nwhumndGhp
nilbkgnn tpbfuwGbph phy 17 hwwny nupng» 66,889.8 66,889.8 66,889.8
NNy
U Pofuwilh wiw phy 5 dhet. nypngh 5,000.0 5,000.0 5,000.0
Jtpwnpngnid
<. Chpwgh wijwa 169 nupng 42,300.0 42,300.0 42,300.0
. Mtnpnujwlh wiwb phy 51 dheGwljwupg nupng 45,121.5 45,121.5 45,121.5
Gplwlh Nbnwjuwl {udwjuwpwl 54,900.0 54,900.0 54,900.0
U.lvwlqunyubh wGJwa phy 184 dhoG. nunngh
duwipquinuhp&h hhGuwGnpngnud 37,600.0 37,600.0 37,600.0
22 9wyng dnnph dupg 32,896.6 32,896.6 0.0 32,896.6 0.0 0.0 0.0
q. G1hpGh nupng 32,896.6 32,896.6 32,896.6
22 Uniuhph dwipg 61,546.0 61,546.0 0.0 61,546.0 0.0 0.0 0.0
q. UGqtnuynph nupng 30,169.6 30,169.6 30,169.6
q. Stinh phy | dhoGwlwng nupng 31,376.4 31,376.4 31,376.4
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
nuuuywpgiwd | 2 CnuikGn ng ‘Lwhuwadwh-
& OPUALLED Gl GUSUCAALEER cuvruuUtLL $hGwGuwlwb Chiliptiph L mml;:nu?wllulﬁ 0 Uwughuw
3 uLduuarULEee Chliptiph L ? dhGwGuwljwb B
= wlnyGtph 2hGmpjmGGtph qhnntqhw- npuiw inph
) & 3 © qony 2hGnupym GGERR g huuy pwpumbtiquqp- wipnp Ghpf Gt
] E 3 2hGuwpwpmpymG qomy wy
2 E = owluubip EpwGnpngnud Yl wyhuw- .
=h tuubip
wnwpltp
22 Upwpwwnh dwnpg 345,817.2 345,817.2 0.0 345,817.2 0.0 0.0 0.0
q.Uwpiwpw)bGh dhe Guljung nupng 43,478.4 43,478.4 43,478.4
Cwhnudjwi qjninh Upnwly {wdpwpdniijubh wijwb 682243 682243 68.2243
dhoGwlwng pupng
UniptiGuwywlh nupng 53,511.9 53,511.9 53,511.9
Uwuhu pwnuph U.Uwizungh widué phy 1 53,5119 53,511.9 53,511.9
dhoGwlwng nupng
q.Q-tnuGhunp vheGwljwnpg nupng 66,889.8 66,889.8 66,889.8
q. Upwjtq nupng 60,200.9 60,200.9 60,200.9
22 Upwqudnwnh dwng 242,907.1 242,907.1 0.0 242,907.1 0.0 0.0 0.0
q. BjnipuluGh dhoG. nupng 80,267.8 80,267.8 80,267.8
q. Uwuwmwpuwjh dhoG. nupngh hhdGwlnpngnud 60,200.9 60,200.9 60,200.9
q.Ownywhnyhnh nupngh hhuG. 60,200.9 60,200.9 60,200.9
q. NigwGh nqupng 42,237.5 42,237.5 42,237.5
22 Updwyphnh dupg 232,609.8 232,609.8 0.0 232,609.8 0.0 0.0 0.0
Eguhwoh punwph fu. Upnjwlh wlwG phy 4 53,5119 53,511.9 53,511.9
dhoGwlwng pupng
{uyyutl hwiw)Gph dhe Gwlwpg nupng 46,822.9 46,822.9 46,822.9
q. bwG9jwbh nupng 39,220.5 39,220.5 39,220.5
p. Ywnuwppwwwwh phy 1 tpwdynwlwl npupng 30,169.6 30,169.6 30,169.6
p. Ywnuwpwwwuwh phy 3 nupng 32,884.9 32,884.9 32,884.9
E9ouhwoGh phy 7 bhol. nupng 30,000.0 30,000.0 30,000.0
22 Qlnunppniuhph dwng 720,513.9 720,513.9 0.0 720,513.9 0.0 0.0 0.0
q. dpiwtGh dhoGwlwng nupng 46,822.9 46,822.9 46,822.9
q. Lntuwynilph vhoG nupng 74,975.7 74,975.7 74,975.7
q. Lhdph dhoG. nupng 53,511.9 53,511.9 53,511.9
q. Uunnnwénpp nupngh hhiGwGnpngnud 50,167.4 50,167.4 50,167.4
q. Upojwlhuwp dhol nupng 56,856.4 56,856.4 56,856.4
q. OnyhGwnph dhoG. nupng 46,822.9 46,822.9 46,822.9
q. Gpwlnuh phy 1 nupngh hhdGwlnpngnid 53,511.9 53,511.9 53,511.9
LwpntiGhuh phy 2 dheGwlwpg nupng 53,511.9 53,511.9 53,511.9
Uwpwunilnt N 1 qupng 63,224.2 63,224.2 63,224.2
p. Swywnh phy 5 nqupng 63,545.3 63,545.3 63,545.3
Q-tinhnyhwh nujpng 21,800.0 21,800.0 21,800.0
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
quuwljungiwa CnuikGn ng ‘Lwhuwadwh-
g OPUALLED Gl GUSUCAALEER cuvruuUtLL $hGwGuwlwb Chiliptiph L mml;:nu?wllulﬁ 0 Uwughuw
3 uLduuarULEee Chliptiph L ? dhGwGuwljwb
= wlnyGtph 2hGmpjmGGtph qhnntqhw- npudwinph-
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
2 E = owluubip puipap) EpwGnpngnud Yl wyhuw- gw I
=h tuubip
wnwpltp
q. Opnioniph nupng 39,220.5 39,220.5 39,220.5
q. Onjwqupnh nupng 60,339.3 60,339.3 60,339.3
q. Ywpnwaénph nupng 36,203.6 36,203.6 36,203.6
22 Chpwlh Jupg 156,882.1 156,882.1 0.0 156,882.1 0.0 0.0 0.0
q. Uplpwwnh nupng 30,169.6 30,169.6 30,169.6
q. @niuwGwgninh nwnpng 27,152.7 27,152.7 27,152.7
q. Ukd Uwlpw)h nupng 75,424.1 75,424.1 75,424.1
q. Lwnh&h nypng 24,135.7 24,135.7 24,135.7
22 Innm duipg 230,478.4 230,478.4 0.0 230,478.4 0.0 0.0 0.0
‘:;}El.[lfll[{ul%pqm wphtiunwgnpowwl ntuntdGuljuG» 60,200.9 60,200.9 60.200.9
JwGwdnph phy 24 nunpng 52,615.9 52,615.9 52,615.9
q. Lwppwgninh nupng 66,373.2 66,373.2 66,373.2
q. Lwpwdnph nupng 51,288.4 51,288.4 51,288.4
22 Ynuuyph dwng 570,706.1 570,706.1 0.0 570,706.1 0.0 0.0 0.0
q. Gndwpgh wpybunh nupng 46,822.9 46,822.9 46,822.9
p.UpnyjwGh pphy S dhoGwlwpg nupng 64,404.5 64,404.5 64,404.5
p.UpnyjwGh phy 6 dhoGwlwng nupng 33,444.9 33,4449 33,444.9
p.Enyupnh ginughwmwyw6 YaGunpnG 76,300.0 76,300.0 76,300.0
p.UpnyjwGh pphy 1 dhoGuwlwpg nypngh hhuG. 46,822.9 46,822.9 46,822.9
p.UpnyjwGh phy 2 dhoGulwng nupng 74,161.7 74,161.7 74,161.7
p.UpnyjwGh phy 4 dhoGulwng nupng 58,543.9 58,543.9 58,543.9
q. Lwpwrwiph nypng 43,600.0 43,600.0 43,600.0
q. LinGwGhump dunip-dwljuyupuntq 30,169.6 30,169.6 30,169.6
p. Gndupnh phy | dunip dwljwuywpnbg 24,135.7 24,135.7 24,135.7
p- Upnyjul twnwnp pinquinguigwid tntfuwtph phy 30,000.0 30,000.0 30,000.0
1 qupng otinnignid L hhiGwlGnpngnid
Upnyjwlh N 8 vhoGwlwpg nupng 42,300.0 42,300.0 42,300.0
22 Sunynioh dwing 145,210.1 145,210.1 0.0 145,210.1 0.0 0.0 0.0
q. Ujqthnyump wmwppuwywi ngupng 56,856.4 56,856.4 56,856.4
p.bolwGh phy 1 nupng 33,4449 33,4449 33,444.9
q. Dwnuwywbh (Swyniph 2n9.) nupng 54,908.8 54,908.8 54,908.8
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mugnnuljwi 0 Gwwhuuwyg
3 uuduLarULEee Chliptiph L ? dhGwGuwljwb B
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
3 E =) owjuubn puipap) Ybpw Gnpngnud Ywi wytuw- 4 I
=8 owluutip
wnwpltp
“Lpunou et qaponn husylpulpnl quipngGtph 240,000.0 240,000.0 240,000.0
hhiGwGnpngnid
09 06 01 07 | Yppwlw opjtlwmbGhph hGwpwpmpniG 1,121,363.6 1,121,363.6 1,121,363.6 0.0 0.0 0.0 0.0
wn pynid’
Gplwh punwp 190,000.0 190,000.0 190,000.0 0.0 0.0 0.0 0.0
«®npp Uhbtpy Yppwhwiwihp 20,000.0 20,000.0 20,000.0
Onwu-hwyuwiuwl vywynGuwlwl hwiwuwpw6 170,000.0 170,000.0 170,000.0
22 Upwpwwnh dunpg 229,598.2 229,598.2 229,598.2 0.0 0.0 0.0 0.0
p. Upwpwwmph NUd PuGwywbGh nypng 70,234.3 70,234.3 70,234.3
q. Ywpnuotlh nupng 86,956.8 86,956.8 86,956.8
q. UwpdwpuwptiGh dunip-dwGjuwywpntq 30,169.6 30,169.6 30,169.6
q. UnthwGhyh nupng 42,237.5 42,237.5 42,237.5
22 Upwquénnith dupg 138,572.7 138,572.7 138,572.7 0.0 0.0 0.0 0.0
Upwquonwmbh dwpgh g.LinGuwwwph Gnp nupng 90,301.3 90,301.3 90,301.3
p. UWpnwpwyh tpudymwlwl nypng 48,271.4 48,271.4 48,271.4
22 Snunpniuhph dupg 27,250.0 27,250.0 27,250.0 0.0 0.0 0.0 0.0
Swthwpwnh hwiwjGpwjhG YaGupnGh, nupngh L
pnidwipniyunnphwjh nluy 9tnnigiw G hwiwlwnpgh 27,250.0 27,250.0 27,250.0
hpwlywiwgnid
22 Chpwlh Jupg 159,213.3 159,213.3 159,213.3 0.0 0.0 0.0 0.0
p. @ynuipph << G-UU U. Lwqupyulh wGdub
tpypuwphqhwlujh L hGduGEphwjh ubjutwpwlinpjub 82,913.3 82,913.3 82,913.3
hGuunhwninh wliwjwpun ptiph wjwpunid
Uwlijuwjwpduul hwiwjuwpwih G-jnuiphp ¥/6 76,300.0 76,300.0 76,300.0
22 Swnioh dwipg 192,482.3 192,482.3 192,482.3 0.0 0.0 0.0 0.0
Ltpgh Gpud)mwlwi nupng 90,508.9 90,508.9 90,508.9
p. hbolwGh wwpwpybumh nupngh 4§/ 59,735.9 59,735.9 59,735.9
‘Unjtdpbpjuwlh dwpquhwiwihp 42,237.5 42,237.5 42,237.5
22 Ynuuyph dwng 184,247.1 184,247.1 184,247.1 0.0 0.0 0.0 0.0
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
nuuuywpgiwd | 2 CnuikGn ng ‘Lwhuwadwh-
& OPUALLED Gl GUSUCAALEER cuvruuUtLL $hGwGuwlwb Chiliptiph L mml;:nu?wllulﬁ 0 Uwughuw
3 uLduuarULEee Chliptiph L ? dhGwGuwljwb B
= wlnyGtph 2hGmpjmGGtph qhnntqhw- npuiw inph
) & 3 © qony 2hGnupym GGERR g huuy pwpumbtiquqp- wipnp Ghpf Gt
] E 3 2hGuwpwpmpymG qomy wy
2 E = owluubip EpwGnpngnud Yl wyhuw- .
=h tuubip
wnwpltp
q. 'Lnp G-tnh PwGwywbh nupngh hhdGwlnpngnid L 53.511.9 53,511.9 53.511.9
Jhuwwnnygh wjwpumnid
p.Gnyupnh dwpqunupng 130,735.2 130,735.2 130,735.2
09 06 01 | 09 [ Uywg nupngGtph hhdiGwGnpngmyu 463,834.5 463,834.5 0.0 463,834.5 0.0 0.0 0.0
wj pynid’
Eplwi punup 133,779.7 133,779.7 0.0 133,779.7 0.0 0.0 0.0
phy 198 nupng 80,267.8 80,267.8 80,267.8
py 195 nupng 53,5119 53,511.9 53,511.9
22 9wyng dnnph dupg 25,706.1 25,706.1 0.0 25,706.1 0.0 0.0 0.0
q. Lwpuwgqjtuh nupng 25,706.1 25,706.1 25,706.1
22 Upwquénnith dupg 63,545.3 63,545.3 0.0 63,545.3 0.0 0.0 0.0
q. Lnswlh nupng 63,545.3 63,545.3 63,545.3
22 Updwyphnh dupg 80,267.8 80,267.8 0.0 80,267.8 0.0 0.0 0.0
q. Untuwptinh $. dbipdbijh why. nupng 40,133.9 40,133.9 40,133.9
p. Updwyhph phy 1 nwpng 40,133.9 40,133.9 40,133.9
22 FEnunpniiuhph dupg 86,956.8 86,956.8 0.0 86,956.8 0.0 0.0 0.0
JwpntGhyh ppy 2 nupng 86,956.8 86,956.8 86,956.8
22 Ynuuyph dwng 73,578.8 73,578.8 0.0 73,578.8 0.0 0.0 0.0
p.Lpwqnubh phy 13 nupng 73,578.8 73,578.8 73,578.8
Uhgoh6 dwuGughmwlju G numiGuljmG
09 06 01 | 04 hurumutnntpgn GGkph hpdGuGnpngnus 103,106.4 103,106.4 0.0 103,106.4 0.0 0.0 0.0
wj pynid’
Eplwi punup 46,250.0 46,250.0 0.0 46,250.0 0.0 0.0 0.0
Gplwlh Mbnwywl hnidwGhwmwnp nkluGhyuywh
pnjtioh ypwnpngdwl L otinnigiwl hwdwp 18,500.0 18,5000 18,5000
Gplwlh yhnwlwl Swpnwpughnwlwb pnjto 27,750.0 27,750.0 27,750.0
22 Ynuuyph dwng 56,856.4 56,856.4 0.0 56,856.4 0.0 0.0 0.0
Lpuwqnub punuph Mbwmwywb Lnjkoh thowlgpltinh,
wwwnnthwGGbph L juwpwGitph yepwlnpngnid: 36,856.4 56,856.4 36,856.4
09 06 01 08 | UwpqujwuG opjtijmGhph 2hGwpwpmpymG 257,767.5 257,767.5 257,767.5 0.0 0.0 0.0 0.0
wj pynid’
Eplwi punup 54,500.0 54,500.0 54,500.0 0.0 0.0 0.0 0.0
UowthGjuyh dwpqunupng 54,500.0 54,500.0 54,500.0
22 Upwpwwnh dunpg 39,582.6 39,582.6 39,582.6 0.0 0.0 0.0 0.0
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
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£ OPUALHLB BU GUSULNALERD CLAUUBLE | phiwGunluwG Chiliptiph L S 0, G
3 uuduLarULEee Chliptiph L ? dhGwGuwljwb B
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
p.Uwuhuh dwpqunupng 39,582.6 39,582.6 39,582.6
22 Upwquénnith dupg 32,884.9 32,884.9 32,884.9 0.0 0.0 0.0 0.0
p.Wunwpwlh swpqunupng 32,884.9 32,884.9 32,884.9
22 Chpwlh Jupg 130,800.0 130,800.0 130,800.0 0.0 0.0 0.0 0.0
p- nuipnt «Orhdwhww htppuipinfup Swpquiju® 130,800.0 130,800.0 130,800.0
pnitioh Ywpqunupngh funnignid
09 06 01 31 | Uwpqulwi opjtljmGhph hhiGwGnpngnid 571,216.8 571,216.8 0.0 571,216.8 0.0 0.0 0.0
wjn pynid’
Gplwh punwp 268,801.8 268,801.8 0.0 268,801.8 0.0 0.0 0.0
«uwjwunw iy dwpquljub Shnipjuwl owlGpuwdwpnh 54.500.0 54.500.0 54.500.0
dwpqunupng
‘Unpuquyhph untubpwdwpnh dwijuyunwiblyul 98.100.0 98,100.0 98,100.0
dwpqunupng
O1hdwyhwlw htppwthnjuh pnjtio 98,100.0 98,100.0 98,100.0
«Snpp UlGqtin» dwpquywl shnipjwG QtGph 18,101.8 18,101.8 18.101.8
hhdGwlnpngnid
22 Chpwlh Jupg 86,110.0 86,110.0 0.0 86,110.0 0.0 0.0 0.0
p. @ nuipnt pwjudwwmh pupngh hhdGwlnpngnid 54,500.0 54,500.0 54,500.0
p. Gynuipnt «nudph peGhup nupngh» 31,610.0 31,610.0 31,610.0
hhdGwlnpngnid
22 Ynuuyph dwng 216,305.0 216,305.0 0.0 216,305.0 0.0 0.0 0.0
Quntigwywlh Jwpqunupng 32,884.9 32,884.9 32,884.9
ptidh dblwwyupwpuh dwpqualtph 107,120.1 107,120.1 107,120.1
twijwywwnwibyuwl dwpqunupng
p-2jmptnuywuih dwijuyuwunwibiul Jwpqununpng 76,300.0 76,300.0 76,300.0
L UChuUSULLh BY, UNShULULYTL {ULSG LR
LURLUAULAPE30E, 91,690.1 79,144.0 0.0 0.0 0.0 79,144.0 12,546.1
wjn pynid’
10 | o1 | o2 | o [Sw2twlnuiGtphG uwypulGlpm b unnulul 30,524.5 30,524.5 30,524.5
uwpptnny wuywhnymud
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
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£ OPUALHLB BU GUSULNALERD CLAUUBLE | phiwGunluwG Chiliptiph L - 0, G
3 TuduLnrULEee Chliptiph L dhGwGuwlw b _
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
<< dubyuyui pwiwyjupuyub
JuqiwultpumpymGGtph zpgwGwjwpwnbtphG
10 06 01 | 04 33,619.5 33,619.5 33,619.5
plwlwpuGihph, fuhmgph, YhGgunujhl uvwpphph L
uwppujnpmuiltph mpuiwnpoid
‘LhinypmuGbp «dwydwlnuiGtph wylnwmwpuihG
10 05 01 13 Ytpwlulqiiwb Gynuipm YhGnpnG» NOUTG-md 71541 0.0 71541
Qnpownhp hyfuwGmpjwG, whnwlwl JjunujuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupuwjwpiwl
10 09 01 [ 05 swpshGGtph YwpnnmpymGGkph qupquigns 15,000.0 15,000.0 15,000.0
(GuwhwnuwpmpymGitph wyluwwwljuwqikph Swuny)
100 | 02|19 Z‘;I“lm“‘mhp «Quriwjungsuighl YhGupnG MOUY- 5,392.0 0.0 5.392.0
L uunuJgurnNre3tvy UNLeEr ULCULd
QNF3Lh LUAUUSLh MESUUIL, UNUBSE 5,000.0 5,000.0 0.0 0.0 5,000.0 0.0 0.0
wj pynud”
o1 | 06 | o1 | o4 |2uwnhugnuljuG wijuimiGsph huwyjuniuG L 5,000.0 5,000.0 5,000.0
gqpulgiw G wpuunnwGpGtp
L yunudguenke-3tuvy UnLuveEL
NUSPUULARE30K, 431,000.0 431,000.0 100,000.0 97,000.0 4,000.0 230,000.0 0.0
wjn pynid’
03 | o1 | o1 | o2 | SwuwpwhuluG ywpgh wuwhuyuwlnpywd 431,000.0 431,000.0 100,000.0 97,000.0 4,000.0 230,000.0 0.0
wujwhnynid
nphg’
XL JunwywpnipjuGl wepGptp nunhuwlnipjub Gnp
Juipswlwt 6GphG Yhg Yunnygh Yumnignud 100,000.0 100,000.0 100,000.0
XL JunwywpnipjuGl wnpGpbp nunhulnipjub
Jupswiljut 2tGph hpuwGnpnanud 56,426.1 56,426.1 56,426.1
XL JunwywpnipjuGl wnpGpbp nunhulnipjub
qnpptiph 1034 gnpuwiwuh Eaiunpuwuinigdwi 4,700.0 4,700.0 4,700.0
hwidwwpgh Yytpwlnpngnid
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
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£ OPUALHLB BU GUSULNALERD CLAUUBLE | phiwGunluwG Chiliptiph L - 0, G
3 uuduLarULEee Chliptiph L dhGwGuwljwb
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
«Upowniyu» MOUY-h ptlptiph mwGhpltph
yJtpwlnpngnid b wpunwphl ququumwph wiglugnud 12,8739 12,8739 12,8739
Upwquoh nunhluGnipjub pwdwlinGph Jupswlywb
>tiGiph L twihph JbpuGnpngnud 23,000.0 23,000.0 23,000.0
L HunuJgurNrMe-3ULL UNLLEEL UQ9U3h Y
WLUSTLANFP3UIL SUAUBNFE30K, 732,827.2 732,827.2 102,020.0 117,300.0 6,000.0 507,507.2 0.0
wjn pynid’
03 01 02 | 01 [Uqqujhl wigwwlgnpju wuywhnymi 682,623.9 682,623.9 102,020.0 117,300.0 6,000.0 457,303.9 0.0
g’
«Pnipnquaéanpy» vwhiwlwwwh nintlwh pwpdp
jwupiut hnuwtiph onuiht goh shGwpupnipym 102,020.0 102,020.0 102,020.0
XL JunwywnpnipjuGl wnpGptp wqqujhG
wiynwbgnipjul ownwynipjul 1-h6 vwhdwGwuwh
onljun 3-pn uwhtwGwuguh nnblwgh wgwult 117,300.0 117,300.0 117,300.0
pGuwlywnpwGGtph yepwlnpngnid
03 01 02 | 02 [Mtunwlywl wwhuywimpjwi wupuwhnynid 25,253.3 25,253.3 25,253.3
‘UhinypmuiGbp whnwlw6 wwhwwlmpyjwa
07 01 03 | 02 [dwnwjnpjmimy pdrljulwl vwppunpmiGtph 24,950.0 24.,950.0 24,950.0
4tinppbpiw6 hunfwn
4L NMUTCSNULNME-3UL LURLUCLULNMESNRL 4,700,000.0 4,700,000.0 0.0 0.0 0.0 4,700,000.0 0.0
wyn} pynd
02 01 01 02 | Nwuqiwlwi YwphpGhph pujwpunmd 4,700,000.0 4,700,000.0 4,700,000.0
L Ursuyirq hAidh ety uGrh
SURLULULAREE0KL 12,861.9 12,861.9 0.0 0.0 0.0 12,861.9 0.0
wjn pynid’
Qnpownhp hyfuwGmpjwG, whnwlwl JjunuwjuwmivG
hwGpuytmwlywl kL nwpwdpwihl jupuwjwpiwl
01 01 01 14 SwpuhGGbph YupnnmpmGGhnh qupgugnts 9,000.0 9,000.0 9,000.0
(GuwhuwnwpGhph wyltwwwywqdtph twum])

1112




£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
& 61"[1@[‘&[1[\ L ausupATLGen LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
5 JULNRILELER Chfiptiph L $hiwGuwljw -
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
3 E =) owjuubn puipap) Ybpw Gnpngnud Ywi wytuw- 4 I
=8 owluutip
wnwpltp
Qnpownhp hpfuwGmpjwG, whnmwlwl JunuuwmiuG
hwGpuytmwywl kL nwpwdpwihl jupwjwpiwl
02 05 01 | 04 SwpuhGGbph YupnnmpmGGhnh qupgugnts 3,861.9 3,861.9 3,861.9
(GuwhwnuwpmpymGitph wyluwwwljuwqikph Swuny)
L UUnudguenkre-3tuvy UnLuvete
Ub20MUSHY ULYSTULANRM3UL 21,000.0 21,000.0 0.0 0.0 0.0 21,000.0 0.0
YULAJALUUL MESUUUL UNURSE
wjn pynid’
Qnpownhp hyfuwGmpjwG, whnmwlwl JjunujuwmiuG
04 03 03 | 02 (hwGpwubtmwlywb L mwpuwdpwhl junwjupiwd 21,000.0 21,000.0 21,000.0
twpihGGtph yupnmmpymGaiph qupgqugnd
GPEIULh LUAULUMNESULTL 404,356.0 44,356.0 0.0 0.0 0.0 44,356.0 360,000.0
wjn pynud”
«Gplwbh dhnpnunihntiay GLL-h
04 05 05 | 04 h6ipwlunmgudpGtph Gpnantd 360,000.0 0.0 360,000.0
12-wdjw Yppmpjwl wmGgiwb Juwwlygmpyjunip 6
09 06 01 28 |mwptwb tpkluwGtph numgiw6 uqiwybkpopiw 6 44,356.0 44,356.0 44,356.0
hwiwp wihpwdtym qmyph dtnpplpmd
L Uruausnsvh UUL9MNGESULty 157,046.0 157,046.0 0.0 150,390.0 0.0 6,656.0 0.0
wj pynid’
09 06 01 | 03 [ YppwlwG opjtijmGhph hhiGwGnpngmi 150,390.0 150,390.0 0.0 150,390.0 0.0 0.0 0.0
wj pynid’
q.Qwpuhh nupng 44,608.6 44,608.6 44,608.6
p. Wpuniwpwyh phy 3 nupng 48,326.0 48,326.0 48,326.0
Gnlowumuwth hwiwjlph nwnpngh nYuwy otinnignid L
T 31,500.0 31,500.0 31,500.0
YJuwpntilinun hwdw)lGph nupngh yuwwnnthwGlGbph b
nnéikph dinfuwphGn 10,000.0 10,000.0 10,000.0
OSwnu)kl hwiwjGph nypngh ququbhlugnid 6,755.4 6,755.4 6,755.4
Q-inwpnunh hwiwjlph nypngh Yyepwlnpngnid 9,200.0 9,200.0 9,200.0
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
3 uuduuarULtee Chlptph L $hGwlGuwljwu b _
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
12-wdjw Yppmpjwl wmigiwb Juwwlygmpjunip 6
09 06 01 28 |mwptwb tpkluwGtph numgiw6 uqiwybtpopiw 6 6,656.0 6,656.0 6,656.0
hwiwp wihpwdtym qmyph dtnpplpmd
L UL,U,USh UULOMNESULT Y 356,322.0 356,322.0 0.0 344,322.0 0.0 12,000.0 0.0
wj pynid’
09 06 01 03 | Yppwlwi opjtwmGlph hhiGwGnpngnid 344,322.0 344,322.0 0.0 344,322.0 0.0 0.0 0.0
wj pynid’
q.Unjwltpwnh dhol nupng 50,940.5 50,940.5 50,940.5
q.Uwuhuh nupng /pwgh 9tinnignuihg L mwGhphg/ 72,7722 72,772.2 72,772.2
q. ®.dbtnhh dwljwwwpnbgh hhiGwlinpngnid 21,118.8 21,118.8 21,118.8
Upunwywwm pwnwph phy 6 nupng 79,032.3 79,032.3 79,032.3
“Qtnénun gjninh dhoGwlwpg nupng 31,960.0 31,960.0 31,960.0
£tpghYy qyninh dhoGwlwpg nupng 32,298.2 32,298.2 32,298.2
JYtnh punuwph phy I nupngh dwulwyh yapwlnpngnud 9,200.0 9,200.0 9,200.0
p. Uwupuh ppy 3 nupng 23,500.0 23,500.0 23,500.0
q. Uwjwp-LnJwjh vhoGuwljung nupng 23,500.0 23,500.0 23,500.0
12-wdjw Yppmpjwl wmGgiwb Juwwlygmpjunip 6
09 06 01 28 |mwptlwb tpkluwGtph numgiwa uqiwybtpopiw 12,000.0 12,000.0 12,000.0
hwiwp wihpwdtym qmyph dtnpplpmd
L ULUUJ b, UULMNESUNT Y 461,230.7 461,230.7 68,680.4 374,270.3 0.0 18,280.0 0.0
wj pynid’
Qppownhp hyluwbGmpyjwub, yhnwlw i
Juowijwpiwl hwipwytnwlwi L nwpwopwhl
01 01 01 13 JunuwpG SwupshaGph Gupnnmpym Gitph 5,000.0 5,000.0 5,000.0
qupqugni
08 02 03 | 01 [ Upwlympwjhl opjtlmbGtph hhiGuGnpngnid 74,800.0 74,800.0 0.0 74,800.0 0.0 0.0 0.0
wj pynid’
Pudpwlwun gymunh dzwhnyph il wwlhph 74,800.0 74,800.0 74,800.0
Jtpwnpngnid b gbinnignud
09 06 01 [ 03 | YppwlwG opjhywmGhph hhiGwEnpngmd 299,470.3 299,470.3 0.0 299,470.3 0.0 0.0 0.0
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
nuuuywpgiwd | 2 CnuikGn ng ‘Lwhuwadwh-
& 6[‘[14[‘&[133;{{;1}%?(}[]&[‘[{1&1 oLk cuvruuUtLL PhGwGuwmlwb Chliptiph L mml!:nu;}wllulﬁ, 0 Quuyhnu
) wlwnpGhph Chliptiph L 2hGnipymGakph qtnnbighw- PhOWOUWYWE oy -
=) = 0 ony 2hGmpymGGtph b ) wlnmjGhph Gtp
9 E | d 2hGuwpwpmpymG U PRt qomy wy
2 E = owluubip EpwGnpngnud Yl wyhuw- .
=h tuubip
wnwpltp
wj pynid’
q. Pwipwlwywwmh nupng 28,918.1 28,918.1 28,918.1
q. Lnjubidiptph Whol. nunpng 36,147.6 36,147.6 36,147.6
q. SwpnGhyh nupngh mwGhph yepwlnpngnid 18,600.0 18,600.0 18,600.0
q. UnwuwpbtiGh nupngh jnjwy 9tinnignid 11,160.0 11,160.0 11,160.0
UpLhy qyninh nupng 29,477.2 29,477.2 29,477.2
{wypwn qjninh WhoG. nupngh wmwbhph ypwlnpngnud 38,867.7 38,867.7 38,867.7
Jnpwytpum gninh vhe Gwlwpg nuypng 56,700.0 56,700.0 56,700.0
‘Unp Upunwgbipu hwiwgGph dhe Gwlwng nupng 39,791.7 39,791.7 39,791.7
Uplwpwwh dhel. nupng 39,808.0 39,808.0 39,808.0
09 06 01 07 | Yppwlw opjtlwmbGhph ghGwpwpmpimG 68,680.4 68,680.4 68,680.4 0.0 0.0 0.0 0.0
wj pynid’
q. Uiqtijh nypng 68,680.4 68,680.4 68,680.4
12-wdjw Yppmpjwl wmGgiwb Yuwwlygmpjunip 6
09 06 01 28 |mwptwb tpkluwGtph numgiw6 uqiwytpopiw 13,280.0 13,280.0 13,280.0
hwiwp wihpwdtym qmyph dtnpplpmd
£ 962 0LLNFLhLh UULQNGSULT Y 491,949.6 491,949.6 0.0 460,469.6 0.0 31,480.0 0.0
wj pynid’
08 02 03 | 01 [ Upwympwjhl opjtlmbGtph hhiGuGnpngnid 123,650.0 123,650.0 0.0 123,650.0 0.0 0.0 0.0
wj pynid’
OnyhGup hwdwjlph dpwlniyph nniG 18,300.0 18,300.0 18,300.0
dnpuginin hwiwjlph Wywyniph mwb gtinnignid 13,725.0 13,725.0 13,725.0
Gwywn pwnuwph Hywlniph nnil 50,000.0 50,000.0 50,000.0
Onjugjnin hwdwjlph dywlyniyph ywjwwm 41,625.0 41,625.0 41,625.0
09 | 06 | o1 | 47 [VErmrmuiGsn hwlpulppulw nupngGtpp goypny 20,000.0 20,000.0 0.0 0.0 0.0 20,000.0 0.0
wwwhnytm Guunwyny
wjn pynid’
9nyupwnh phy 1 vhoGwlwng npupng 20,000.0 20,000.0 20,000.0
09 06 01 [ 03 | YppwlwG opjhywmGhph hhdiGwGnpngmd 336,819.6 336,819.6 0.0 336,819.6 0.0 0.0 0.0
wj pynid’
q. Lwjphyjwiph vhel.nunng 39,330.7 39,330.7 39,330.7
q. 4. GmwptiGh vhoG. nupng 28,604.1 28,604.1 28,604.1
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
3 uwuduunruLEee Chliptiph L dhGwGuwljwb
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
q. Onjwgqninh nupng 39,461.9 39,461.9 39,461.9
q. Onjwuwph /Bwqu gjninh/ nupng 35,755.1 35,755.1 35,755.1
q. L. GhunwkGh phy 2 dhol. nypng 18,898.4 18,898.4 18,898.4
p-Q-wywnh phy 4 nupng 32,179.6 32,179.6 32,179.6
Utio Uwuphyh shoG. nupng 85,050.0 85,050.0 85,050.0
Ldwth qninh dhoGwlwpg nupng 19,076.5 19,076.5 19,076.5
fvwswnpmp qymnh She Gwljwpg nupngh nnGhph,
wwwnnthwGGbph Gnpngnid L GepphG hwpnupuGp 18,600.0 18,600.0 18,600.0
Juwputp hwiwjlph (. NnpnuyuwGh wijwb nypngh 10.230.0 10,2300 10,2300
wnwlhph yipwlnpngnid
p. UlwGh pphy 5 nypngh mmwGhph ytpwGnpngnid 9,633.3 9,633.3 9,633.3
12-wdjw Yppmpjwl wmGgiwb Juwwlygmpjunip 6
09 06 01 28 |mwptlwb tpkluwGtph numgiwa uqiwytpopiw 6 11,480.0 11,480.0 11,480.0
hwiwp wihpwdtym qmyph dtnpplpmd
L LANAF UUL2NGSULT Y 254,424.7 254,424.7 0.0 234,256.7 0.0 20,168.0 0.0
wj pynid’
Qppownhp hyluwbGmpyjub, yhnwlw i
Juowijwpiwl hwipuwytnwlwi L nwpuwopwhl
01 01 01 13 JununwpG SwupshaGph Gupnnmpym Gitph 6,500.0 6,500.0 6,500.0
qupqugni
08 02 03 | 01 [ Upwlympwjhl opjtlmbGtph hhiGuGnpngnid 69,290.8 69,290.8 0.0 69,290.8 0.0 0.0 0.0
wj pynid’
Swyhph hwiwjlpwjhG YaGumpnGh hhiGulnpngnid 69,290.8 69,290.8 69,290.8
09 06 01 03 | Unppwlywi opjtwmGlph hhiGwGnpngnid 164,965.9 164,965.9 0.0 164,965.9 0.0 0.0 0.0
wj pynid’
4. loGynywGh nupngh wwGhph Gunnignd 52,6159 52,615.9 52,615.9
/hhiGwGnpngnid/
LEnGuwwwwn qymnh dheGwlwpg nypngh
dhowGgpGiph vwjwhwunwiw i hwiwn 4,600.0 4,600.0 4,600.0
Jwlwanp punuph phy 17 thol. nupng 47,000.0 47,000.0 47,000.0
Jwlwdnp pwnwph phy 25 vhol. nuypng 37,600.0 37,600.0 37,600.0
Lniuwnpjnip gjninh nypng 9,200.0 9,200.0 9,200.0
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
OruQ-LELh Y GUSULNLERD
= u L QUSUL. LLAUUBLE | PhiwbuuywG Chlptph L wnwqnnwlwd, f; Gy
3 uuduLarULEee Chliptiph L dhGwGuwlw b
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
3 E =) owjuubn puipap) Ybpw Gnpngnud Ywi wytuw- 4 I
=8 owluutip
wnwpltp
‘LwGwanph phy 18 nupngh vwnpupuhiheh 13,950.0 13,950.0 13,950.0
Ytpwnpngnid
12-wdjw Yppmpjwl wmGgiwb Juwwlygmpjunip 6
09 06 01 28 |mwptlwb tpkluwGtph numgiw6 uqiwytpopiw 6 13,668.0 13,668.0 13,668.0
hwiwp wihpwdtym qmyph dtnpplpmd
4L ThOUubh UUL2MGSULUY 753,259.1 753,259.1 33,480.5 707,042.6 0.0 12,736.0 0.0
wj pynid’
01 01 01 [ 08 | JwpswlwG opjhljwmGhph bhiGwanpngnid 150,848.3 150,848.3 0.0 150,848.3 0.0 0.0 0.0
<< Chpwih dwpqutimwpwh tGph hhdGwinpngnid 150,848.3 150,848.3 150,848.3
08 02 03 | 01 [ Upwlympwjhl opjtlmbGtph hhiGuGnpngnid 39,714.7 39,714.7 0.0 39,714.7 0.0 0.0 0.0
wj pynid’
Uquuwl gjninh dywlnyyph nnil 39,714.7 39,714.7 39,714.7
09 06 01 [ 03 | YppwlwG opjhywmGhph hhdiGwGnpngmyd 516,479.6 516,479.6 0.0 516,479.6 0.0 0.0 0.0
wj pynid’
¢. Gtnwlhunh nupng 113,360.0 113,360.0 113,360.0
q. <nnnih nypngh hhdGwlnpngnud 158,050.0 158,050.0 158,050.0
q.UGnywywh nupng 130,800.0 130,800.0 130,800.0
q. LwjywywGh hhG Swiuwywpunbq 30,169.6 30,169.6 30,169.6
q. UwnGunpjniph dheGuwjwng nupngh
dwpqunuhih6h b hwGnhunipjniGGtph npuhihdh 28,200.0 28,200.0 28,200.0
Ytpwnpngnid
LwG9hly hwiw)Gph nupngh wwwmnthwGGtph L nnGtph 4,600.0 4,600.0 4,600.0
Jtpwnpgnid
Utio Ubywuwp hwdw)Gph nupngh nuhihch 18,600.0 18,600.0 18,600.0
Junnignid
Uwjhujwl gjminh nupngh Guifulht 26Gph 9,200.0 9,200.0 9,200.0
Jtpwnpngnid
Quenin qyninh nupngh uwnpu nuwhihch Junnignud 23,500.0 23,500.0 23,500.0
09 06 01 07 | Yppwlw opjtlwmbGhph phGwpwpmpimG 33,480.5 33,480.5 33,480.5 0.0 0.0 0.0 0.0
wj pynid’
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlwl .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
OruQ-LELh Y GUSULNLERD
= u L QUSUL. LLAUUBLE | PhiwbuuywG Chlptph L wnwqnnwlwd, f; Gy
3 uuduLarULEee Chliptiph L dhGwGuwlw b
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
Unbiglwnta gymunud 0ky hupluwlh whujwhG nupngh 33,480.5 33,480.5 33,480.5
Junnignid
12-wdjw Yppmpjwl wmGgiwb Juwwlygmpjunip 6
09 06 01 28 |mwptjwb tpkluwGtph numgiwG uqiwybtpopiw 6 12,736.0 12,736.0 12,736.0
hwiwp wihpwdtym qmyph dtnpplpmd
4L SUJNRCPh UUL2NGSULT Y 267,378.1 267,378.1 0.0 256,834.1 0.0 10,544.0 0.0
wj pynid’
Qppownhp hyluwbGmpyjwub, yhnwlw i
Juowijwpiwl hwipwytnwlwi L nwpwopwhl
01 01 01 13 JunuwpG SwupshaGph Gupnnmpym Gitph 4,000.0 4,000.0 4,000.0
qupqugni
08 02 03 | 01 [ Upwlympwjhl opjtlmbGtph hhiGuGnpngnid 37,000.0 37,000.0 0.0 37,000.0 0.0 0.0 0.0
wn pynid’
Muwnwywpwnp hwdwjliph Bywynyph nnl 37,000.0 37,000.0 37,000.0
09 06 01 [ 03 | YppwlwG opjhywmGhph hhdiGwEnpngmd 219,834.1 219,834.1 0.0 219,834.1 0.0 0.0 0.0
wjn pynid’
q. Lwpwquwywbh nupng 75,424.1 75,424.1 75,424.1
“Hhihow pwnwph phy 2 nuypngh twubwtGph 71,820.0 71,820.0 71,820.0
Ytpwnpngnid
(lultiwt gynnh dhGwluing nupngh dwubwlh 66,150.0 66,150.0 66,150.0
Ytpwnpngnid
Pl auah thplwliug numgh Gppht 6,440.0 6,440.0 6,440.0
uwlhwlgnygh wigyugnid
12-wijw Yppmpjwl wiguwb uuywlgnipyjunip 6
09 06 01 28 |mwptlwb tpkluwGbph numgiwG uqiwytpupiw 6,544.0 6,544.0 6,544.0
hwiwn wihpwdtym qmyph dtnpplpmd
4L USNFLhLh UULONGSULT L 345,784.7 345,784.7 0.0 333,776.7 0.0 12,008.0 0.0
wj pynid’
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwljupgiwa = LGnwdklp ng ‘Lwhwqdowhl
qOwhki-
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mwgnunuljw, 0 Gwwhuuwyg
3 uuduLarULEee Chliptiph L dhGwGuwljwb
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph-
=) = 0 on 2hGmpymGGtph wlnmjGhph Gtp
S = 5 qony ShGwpupmpyme Yuughmuy pwnpmbquqgpu- ony] w
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
Qppownhp hyluwbmpyjwub, yhnwlw i
Juowijwpiwl hwipwytnwlwi L nwpwopwihl
01 01 01 13 JununwpG SwupshaGkph Gupnnmpym Gitph 5,000.0 5,000.0 5,000.0
qupqugni
09 06 01 [ 03 | YppwlwG opjhywmGhph hhdiGwGnpngmi 333,776.7 333,776.7 0.0 333,776.7 0.0 0.0 0.0
wj pynid’
p. GwwwG phy 10 nupng 195,087.9 195,087.9 195,087.9
tlwowfu gjnuh Shelwluwing nunngh dwubwlh 66,150.0 66,150.0 66,150.0
Ytpwnpngnid
Uwwguilh p.2 hwnniy nujpngh dwuGuiyh 72,5388 72,538.8 72,538.8
Ytpwnpngnid
12-wijw Yppmpjwl wliguwb uuywlgnipyjunip 6
09 06 01 28 |mwptlwb tpkluwGtph numgiwa uqiwytpopiw 6 7,008.0 7,008.0 7,008.0
hwiwp wihpwdtym qmyph dtnpplpmd
4L 4U3N38 N,k guLaMESuULruy 340,682.0 340,682.0 0.0 338,010.0 0.0 2,672.0 0.0
wj pynid’
08 02 03 | 01 [ Upwympwjhl opjtlmbGtph hhiGuGnpngnid 3,660.0 3,660.0 0.0 3,660.0 0.0 0.0 0.0
wj pynid’
Uwyih qjninh Wywynyph mwG hhiGuwlnpngnid 3,660.0 3,660.0 3,660.0
09 06 01 [ 03 | YppwlwG opjhywmGhph hhiGwEnpngmd 334,350.0 334,350.0 0.0 334,350.0 0.0 0.0 0.0
wj pynid’
q. UnGowdnph nupng 54,500.0 54,500.0 54,500.0
q. {tphtpph nupng 43,600.0 43,600.0 43,600.0
q. Utpuh nujpng 54,500.0 54,500.0 54,500.0
p. dwyph N 2 thol. nupngh mwpwoph pwpkijupgnid 21,800.0 21,800.0 21,800.0
p. GntigGwdnph phy 3 nupng 100,000.0 100,000.0 100,000.0
q.UptlGhh dwpqunuhihdh yepwlwnnignid 59,950.0 59,950.0 59,950.0
12-wijw Yppmpjwl wliguwb uuywlgnpyjunip 6
09 06 01 28 |mwptlwb tpkluwGtph numgiwa uqiwytpopiw 2,672.0 2,672.0 2,672.0
hwiwp wihpwdtym qmyph dtnpplpmd
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlwl .
nuuuywpgiwd | 2 CnuikGn ng ‘Lwhuwadwh-
& OPUALLED Gl GUSUCAALEER cuvruuUtLL $hGwGuwlwb Chiliptiph L mml;:nu?wllulﬁ 0 Uwughuw
3 uLduuarULEee Chliptiph L ? dhGwGuwljwb B
= wlnyGtph 2hGmpjmGGtph qhnntqhw- npuiw inph
) & 3 © qony 2hGnupym GGERR g huuy pwpumbtiquqp- wipnp Ghpf Gt
] E 3 2hGuwpwpmpymG qomy wy
2 E = owluubip EpwGnpngnud Yl wyhuw- .
=h tuubip
wnwpltp
4L uNSUs3Lh yuro2MGsurty 739,805.8 739,805.8 0.0 707,377.8 0.0 32,428.0 0.0
wj pynid’
08 02 03 UywympuyhG opjtijmGlph hhiGwGnpngmu 37,000.0 37,000.0 0.0 37,000.0 0.0 0.0 0.0
wj pynid’
Upwiniu hwdw)Gph dpwynyph wunl 37,000.0 37,000.0 37,000.0
09 | 06 | o1 | 47 [VErmrmuiGtn hwlpulppulw nupngGtpp goypny 20,000.0 20,000.0 0.0 0.0 0.0 20,000.0 0.0
wwwhnytm Guunwyny
wj pynid’
p. UpnyjwiGh phy 1 dh9. nupng 20,000.0 20,000.0 20,000.0
09 06 01 [ 03 | YppwlwG opjhywmGhph hhiGwGnpngmd 670,377.8 670,377.8 0.0 670,377.8 0.0 0.0 0.0
wj pynid’
p. Quptiigwyuwbh phy 5 hol. nupng 54,894.3 54,8943 54,894.3
p. Quptiigwywbh phy 6 vhol. nypng 46,277.2 46,277.2 46,277.2
q. Qupblgwywbh phy 4 nypng 46,009.6 46,009.6 46,009.6
q. 2nytidh nwpng 41,1719 41,1719 41,1719
p. Lpwgnuih phy 4 nupng 41,768.9 41,768.9 41,768.9
p. Lnp Lwdnpth phy 1 nupng 40,966.0 40,966.0 40,966.0
p-QupbtlGguwywGh N 2 nupng 48,033.9 48,033.9 48,033.9
p.2ympbnuywih phy 1 nupng 43,209.9 43,209.9 43,209.9
p.Lpwqnubh phy 6 nupng 34,309.9 34,309.9 34,309.9
Upngjwlh N 7 dhoGwljupg nupng 28,200.0 28,200.0 28,200.0
UpnyjwGh N 10 dhoGwlwng nupng 47,000.0 47,000.0 47,000.0
Upnyjwh Qupth Uwhwlyjwlgh wijwd nupng 28,200.0 28,200.0 28,200.0
Upnyjwlh N 1 wphbunmwgnpowlwl nuumdGupw i 18,600.0 18,600.0 18,600.0
Unwwjp gjninh nupng 28,200.0 28,200.0 28,200.0
JtphG MunGh hwiwglph nupng 49,527.6 49,527.6 49,527.6
Lwjwhnyhun hwiwjGph nypngh njuy otinnignid 43,936.9 43,936.9 43,936.9
p. Quptiigwqubh U. fJvwswwnmpyuGh wigub 9.200.0 9.200.0 9.200.0
tipwd)mwlwl nupng
‘Lnp Upnwdtn gyninh dhoGwlwng nupng 7,360.0 7,360.0 7,360.0
Yuiptlhu gjninh dhoGwlwng nupng 7,360.0 7,360.0 7,360.0
Lniduljul gninh dheGulwpg nupng 6,151.7 6,151.7 6,151.7
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£ymotnwjhG wyn pynui
Ouifuutiph wyn pynud
qnpownwlywb o
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
& OPUALEED Gt HUSULALLGED LLAUUGLE | Phlwbuwljwub Chliptiph L mugnnuljwi 0 Gwwhuuwyg
3 uuduLarULEee Chliptiph L ? dhGwGuwljwb B
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
12-wdjw Yppmpjwl wmigiwb Juwwlygmpjunip 6
09 06 01 28 |mwptwb tpkluwGtph numgiw6 uqiwybtpopiw 6 12,428.0 12,428.0 12,428.0
hwiwp wihpwdtym qmyph dtnpplpmd
{4 1094U3hV YhAULUI THTL
SUNUBNFEBORL 5,219.2 5,219.2 0.0 0.0 0.0 5,219.2 0.0
wj pynid’
2011 pywlwGh Swpnuhwiwph
Gwhmuunpuunimb wluunnwbpGtnh
01 03 02 | 05 YuqiwlbpuyiuG hwtup Yupnnopn EGtph 5,219.2 5,219.2 5,219.2
qupqugnii
{UuLLUShL 6UNUSNFE3NFLLELL
WULQUI LN STLRLUFNAN 2,884.2 2,884.2 0.0 0.0 0.0 2,884.2 0.0
wj pynid’
Qppownhp hyluwGmpyjub, whnwlw i
Juowijwpiwl hwipwytnwlwi L nwpwopwhl
01 06 01 | 20 JununwpG SwupshaGkph Gupnnmpym Gitph 2,884.2 2,884.2 2,884.2
qupqugnii
4L AUSUUTL 96NULSTUUGLS 2,506.5 2,506.5 0.0 0.0 0.0 2,506.5 0.0
wjn pynid’
09 05 02 15 [vtpumiGep «Fumulub ngupng» MAUY-mi 2,506.5 2,506.5 2,506.5
4L SLSEUULUL UPSUUsSNrE-3Uy
MUTSNULNMF3UL NESTUUUL 500.0 500.0 0.0 500.0 0.0 0.0 0.0
LUuaLUdNand
wj pynid’
04 01 01 11 |Jwpswyw6 opjtilinGtph hhiGwGnpngmui 500.0 500.0 0.0 500.0 0.0 0.0 0.0
wj pynid’
<L mimbtuwyub dpgulgnipjul yuwpmuwwlnipjwl
whnwyuwl hwGdGwdnnnyh yupswluwi ptGph 500.0 500.0 500.0

wntiuwhuiwl L hwwhpnthwjhG hwiwluwpgh
wmbtinunpnid
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£ymotunwyhG wyn pynud’
Ouifuutiph wyn pynud
qnpownwlywb .
nuuwlupqiwG = Canwdkn ng ‘Lwhiwqowht-
q
£ OPUALHLB BU GUSULNALERD CLAUUBLE | phiwGunluwG Chiliptiph L - 0, G
3 TLdULNRUILELR Chliptiph L dhGwbuwljwb }
=X wlnyGtph 2hGmpymGGtph qhinntqhw- npuiw Gnph
=) = 0 2hGmpymGGtph wlnmjGhph ki
= 3 5 qony ShGmpupmpme g huuy pwpumbtiquqp- om] w n
T | £ 2 owfuubp [WpIIp) JbpwGnpngmd Y wyluw- aond uin
=8 owluutip
wnwpltp
L LUAULUShUILUL SUNUBARE-3TL
BNLLNRPA 12,000.0 12,000.0 0.0 0.0 0.0 12,000.0 0.0
wj pynid’
Qnpownhp hyfuwGmpjwG, whnwlwl JunuwjuwmiuG
01 03 01 04 |hwlpwwbmwlwG L mwpwopuwyhl Junwguwpiu G 12,000.0 12,000.0 12,000.0
twpihGGtph yupnmmpymGaiph qupgqugnyd
<{UsUUSULP L{UL/rUShL
<{EANMISUNTYPALLUELNIMEBUL 71,712.7 0.0 0.0 0.0 0.0 0.0 71,712.7
NPZARY
wj pynid’
08 03 01 02 [{nmumwmbuwhG ownwympimGGbp 61,712.7 0.0 61,712.7
08 03 01 03 [Nwughn dwnwympymGGtp 10,000.0 0.0 10,000.0
UELSLNLULTL LLSLULTL LULYLUGNANY, 2,000.0 2,000.0 0.0 2,000.0 0.0 0.0 0.0
wjn pynid’
01 06 01 12 |Jwpswyw6 opjtilinGtph hhiGwGnpngmui 2,000.0 2,000.0 2,000.0
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